L |

h

|

Air Cylinder

Series CG1

020, 925, 932, 940, 850, 063, 280, 2100

Variations W
Series Action Rod Cushion| | g Variation B?;ﬁmsgze Page L
asiC |l One-louch‘ ’ With rod ‘ ’ Air- Clean ’
fitting boot hydro series COpper free CJ P
Standard/Series CG1 Rubber
Single rod 0 172 CJ2
-J Double Air | =——
- . to
. ”;5 acting Rubber} L 100 LMZ
LY Double rod L4 7-14
Air | C85
Standard/Series CG1 C76
. . Single rod 20
= Single
d ) (Spring retum Rubber L to —1.7-20 CG1
— acting i ) 40
- . pring extent
% MB
MB1
Non-rotating rod Series CG1K Rubber | — |00 63} —
} Double Single rod 17226 | |CP95
d i Air | ‘40 to 63} —
- acting
Double rod‘ lRubberl 20to0 63 @
Direct mount Series CG1R RUbber—@ ® ® L CA1
20 L
- Double _
- 4 acting Single rod to 1.7-35 CS1
i‘f Air L L 63 L
Direct mount/Non-rotating rod
Series CG1KR _ Double | 20
- — - acting Single rod Rubber L to —1.7-40
AT e 63
Low friction Series CG101Q
No cushion 20
2 Double - (020 to 063) ® o H
= ,,J acting Single rod Rubber (o) 1.7-43
A g (280, 9100) 100
Ay

Applicable auto switch

Made to Order

Auto switch model

Band mounting

Refer to p.5.4-1
for made to order

Reed D-C7/8, D-C73C/C80C
switch D-B5/B6, D-B59W
: D-H70, D-H7OW, D-H7OF
So!'d state D-H7BAL, D-H7C, D-G5/K5
switch D-G500W/K59W, D-G59F, D-G5NTL

products of series CG1

1-7-1



Standard: Double Acting Single Rod

Series CG1

020, 025, 932, 040, 0650, 063, 880, 6100

How to Order

Mounting ®

With auto switch
(magnet)

25— 100

| |

25— 100

B53

Basic

Axial foot

Front flange

Rear flange

*

Front trunnion

Rear trunnion

OH|IC®m|r|w

Clevis

£

= Not available for bore
sizes 980 and ©100.
=% Mounting brackets are

* Number of auto switches

— 2
s | 1

[

Rod boot (at one side) Auto switch

Without rod boot
J Nylon tarpaulin

_ Without auto switch
(Built-in magnet)

= Refer to the table below for
selecting applicable auto
switches.

K Heat resistant tarpaulin

* Foot brackets and front flanges are fitted
when rod boots are mounted.

included, not mounted. ¢ Bore size
Cushion ¢ 20 | 20mm 50 | 50mm Cylinder stroke (mm)
N | Rubberbumper 25| 25mm 63 | 63mm Refer to p.1.7-3 for Standard Stroke Table.
A Air cushion 32| 32mm 80| 80mm
40 40mm 100 100mm

Applicable Auto Switches/Refer to p.5.3-2 for further information on auto switch.

§ B Load voltage Auto switch model Lead wire (m)* i
Style | Special function E'gﬁttfr';a' k (X)Vl:;";‘li) oo c Applicable bore size | 05 | 3 | 5 Ione Aprlﬁcl;zzble
£ 220t0 263 |220to 100 | () [(L)[(2)|(N)
3 wire
neny || | — c76 — e || c|—
Yes — — B53 o |o0 | —[rcC
£ Grommet| | 12V 200V - B54 [ I NN -
'E & or less — B64 ® o — | —| —
a Yes . 12v 100V C73 — o o o —
° —— 2wire |24V Rela
3 No 5V, 12V|100Vorless]  C80 = e o | —c ¥
« comecor® 12v | — [ crac — |eoje[e[e]—
omeCONe 5V, 12V|24V orless|  C80C — NOOORE
Diagnostic indication (2 color) | Grommet | Yes — — — B59W ® o — | —| —
3 wire (NPN) H7A1 G59 ® 0 O|—
- 5V, 12V IC
Grommet| |3 wire (PNP) H7A2 G5P ® |0 O —
H7B K59 ® O O —
2 wire 12v —
S Connector H7C — L BLILIL
z 3 wire (NPN) H7NW G59W ® 0 O|—
o |Diagnostic indication ; 5V, 12v Ic Rela
2 Yes|3 Wire (PNP)| o4\ — H7PW G5PW ® 0 O — y
s (2 color) PLC
o ; H7BW K59W ® 0 O|—
- 2 wire 12v T
5 | Water resistant (2 color) | Grommet H7BA G5BA — | @|O|—
& With timer 3 wire (NPN) — G5NT | — (@O —
5V, 12V IC
Diagnostic output (2 color) 4 wire H7NF G59F (] ® O|—
Latch with diagnostic output NPN _ J— | —
(2 color) ( ) H7LF ® 0 O
* Lead wire length  0.5m e.g.) C73C  5m:eeeeee z e.g.) C73Cz
3Meeeeneee C73CL None-----N C73CN

* Solid state switches marked with "O" are manufactured upon receipt of order.

1-7-2

O
:



Substantially shorte
020 to 940: -15 to —30mm
(in comparison
-17 to —28mm
(in comparison
080 to 6100: -9 to —33mm
(in comparison

040 to 063:

High speed operation: 1000mm/s
(080 and 2100 operate at 700mm/s)

Provided with an air

Standard: Double Acting Single Rod Series CG 1

r length: Specifications

Bore size (mm)

20 | 25 | 32 | 40 | 50 | 63 | 80 | 100

with CM2 Series)

Action Double acting/Single rod
with CA1 Series) Lubrication Non-lube
with CA1 Series) Fluid Alr

Proof pressure 1.5MPa

Max. operating pressure 1.0MPa

Min. operating pressure 0.05MPa

cushion as

Without auto switch: =10 to +70°C (No freezin CJ1
standard Ambient and fluid temperature - - ( - 9 —
Two cushions are available: With auto switch: —10 to +60°C (No freezing) CJP
an air cushion or rubber bumper Piston speed 50 to 1000mm/s 50t0 700mm/s L
Weight reduction of 10 to 50% Upto 10007 ‘mm |

+1.4 +1.8 0 J2
(50mm stroke, in-house comparison) Stroke tolerance Up to 1000 " ;"mm, Up to 1200" ;" mm Upto 1500*})'8mm |rvYe
Highly accurate mounting Thread tolerance JIS class 2 CM2
brackets Cushion Rubber bumper/Air cushion —
Axial foot, front flange
( ge) Basic, Axial foot, Front flange, Rear flange, Front trunnion, C85
- Mounting* Rear trunnion, Clevis
(Used for changing the port location by 90° degrees.) C76
& 4 . . .
ﬁ i'a ) Front/Rear trunnion styles are not available for bore sizes 80 and 2100.
= r e ) —
\ 58 //d Accessories MB
i-i%l - el M i Basi Axial Front Rear Front Rear . —
. ounting e foot | flange | flange | trunnion | trunnion | C'eVis  IMB1
; Rod end nut [ o o
' J__J/—’d - Standard — L L L L4 CP95
4 ﬂ - p— : i Clevis pin — — — — — — o
ﬁ ~ Single knuckle joint| @ o o ) o [ ] o C95
o ‘%-‘f Double knuckle
_ |joint** [ J [ (] L [ [ o e
Option [(With pins) C92
Standard stroke Pivot bracket | — — — — ( N ( N (] L
Rod boot ® o [ [ (] o o CA1
= Pivot bracket is not available for bore sizes 80 and 2100. —
JIS symbol +x Pins and snap rings for double knuckle joint are included, not mounted. CS1

Double acting

.
T

Made to Order

Refer to p.5.4-1 for made to
of series CG1.

order products

Mounting Bracket

Refer to p.1.7-4 for part numb
mounting brackets.

ers for the

Auto Switch Mounting Band

Refer to p.1.7-4 for part numbers for the

mounting bands.

Stroke Minimum Strokes for Auto Switch Mounting
. Long | Max Number of switches
Bore size| Standard stroke () | 4oy o) |stroke  Auto switch model
(mm) (mm) (mm) | (mm) 2 1
20 | 25,50, 75,100, 125, 150, 200 201 to 350 D-C7/C8
D-B5/B6
15mm 10mm
25 301 to 400 D-H7 5 0
32 301 to 450 D-G5/K5
40 |25,50, 75,100, 125, {301 to 800| 1500 D-B59W 20mm 15mm
50/63 | 150 200,250,300 1351 45 1200 D-H7LF 20mm 10mm
80 301 to 1400
100 301 to 1500
Note 1) Other intermediate strokes can be
manufactured upon receipt of order.
Spacers are not used for the
intermediate strokes. Refer to
p.1.7-8 to 1.7-10 for dimensions.
Note 2) Long stroke applies to the axial foot
and the front flange style. If other
mounting brackets are used or the
length exceeds the stroke limit,
the stroke should be determined
based on the stroke selection table
in the technical data.
Rod Boot Materials
Symbol Material Max. operating temp
J Nylon tarpaulin 70°C
K  |Heat resistant tarpaulin 110°C*
* Maximum ambient temperature for the rod boot only.
1-7-3

O
:




Series CG1

Mounting Bracket Part No.

Mounting Procedures

Mounting bracket Bore size (mm) i
i 20 25 32 40 50 63 80 100 Trunnion .
i * CG-L020 | CG-L025 | CG-L032 | CG-L040 | CG-L050 | CG-L063 | CG-L080 | CG-L100 Follow the procedures below when mounting a
Axial foot . . - - . . . . pivot bracket on the trunnion.
Flange CG-F020 | CG-F025 | CG-F032 | CG-F040 | CG-F050 | CG-F063 | CG-F080 | CG-F100 20 to 063
Trunnion CG-T020 | CG-T025 | CG-T032 | CG-T040 | CG-T050 | CG-T063 — — 2 2
Clevis™* CG-D020 | CG-D025 | CG-D032 | CG-D040 | CG-D050 | CG-D063 | CG-D080 | CG-D100 Cylinder body ‘%’:ﬁf’i}. o
Pivot bracket (G-020-24A| CG-025-24A| CG-032-24A | CG-040-24A | CG-050-24A | CG-063-24A | CG-080-24A | CG-100-24A -Bm— Fg@/ —-mﬂ l ?r[vc 5 h:res _—
. g i
* Order two foot brackets per a cylinder. ]— | \ Flat washer oP
«# Clevis pins, snap rings and mounting bolts are attached for the clevis. : biain B el \ Trunnion pin
= Mounting bolts are attached for the foot type and the flange type. | [ (Put grease on the exterior.)
1 'Pwot bracket
Auto Switch Mounting Bracket Part No. Ly
Auto switch Bore size (mm)
model 20 25 32 40 50 63 80 100
D-C7/C8
D-H7 BMA2-020 | BMA2-025 | BMA2-032 | BMA2-040 | BMA2-050 | BMA2-063 — — Clevis
D-BSIBG Follow the procedures below when mounting a
. BA-01 | BA-02 | BA-32 | BA-04 | BA-05 | BA-06 | BA-08 | BA-10 pivot bracket on the clevis.
D-G5/K5
020 to 063
* A set of following stainless steel mounting screws is attached. Snap
(A switch mounting band is not attached. Please order the band separately.) ring Clevis pin_ Cyilnde acdr Snap fing
BBA3: D-B5/B6/G5 types {Pul qrease] -
BBA4: D-C7/C8/H7 types -E —1— E
- "D-G5BAL" and "D-H7BAL"switches are set on the cylinder with the screws above when shipped. hd |
When a switch only is shipped, “BBA3” or "BBA4" screws are attached.
[
Weight (kg) | ‘ | | J:!'/_;vot bracket
Bore size (mm) 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100 S
- Basic 0.10 | 0.17 | 0.26 | 0.41 0.77 1.07 | 2.04 | 3.17 280, 5100
%) . Snap Cyllnder body
2 Axial foot 0.21 0.30 0.42 0.63 1.25 1.79 3.00 4.92 nng_ Clevis pin \ Snap nng .
s Flange 0.18 | 0.27 | 0.40 | 0.61 1.1 157 | 275 | 452 | |(Put grease) f\‘-"« ?
m Trunnion 0.11 0.19 | 0.29 | 0.46 | 0.91 1.21 — — \ NO) :
_|
Clevis 0.15 | 0.25 | 0.41 0.64 117 175 | 2.75 | 4.45 -
Pivot bracket 0.08 | 0.09 | 017 | 025 | 044 | 0.80 | 0.98 1.75 | | |
| Vol Dracke
I Pivot bracket
Single knuckle joint 0.05 | 0.09 | 0.09 | 0.10 | 0.22 | 0.22 | 0.39 | 0.57 ‘]1 1 t
A
Double knuckle joint (with pins) | 0.05 | 0.09 | 0.09 | 0.13 | 0.26 | 0.26 | 0.64 1.31 g T
Additional weight by each 50 stroke | 0.05 | 0.07 | 0.09 | 0.15 | 0.22 | 0.26 | 0.35 | 0.49
Additional weight by air cushion | 0.01 0.01 0.02 | 0.02 | 0.03 | 0.03 | 0.03 | 0.03
Additional weight by long stroke | 0.01 0.01 0.02 | 0.03 | 0.06 | 0.10 | 0.19 | 0.26
Calculation example: CG1LA20-100 e Basic weight-««-«coeeeeeeeenennieniens 0.21 (Foot, 220)
(Foot, 220, 100 stroke) o Additional weight-««--«eseeseeeneeeiens 0.05/50 stroke
. Cy|inder StIOKE:+vrereerenrerrnnanunnnnnns 100 stroke

« Additional weight by air cushion---0.01kg
0.21+0.05 X 100/50+0.014=0.32kg

1-7-4

O
:



Standard: Double Acting Single Rod Series CG 1

Built-in One-touch Fitting

Air-hydro

CG1| Mounting ‘N’ Bore size ‘ F —{ Stroke ‘

Built-in One-touch fitting

A style in which One-touch fittings are built into the cylinder. It dramatically
reduces the piping labour and installation space.

CG1| Mounting ‘ H ’ Bore size H Stroke ‘

Air-hydro

A low hydraulic pressure cylinder used at a pressure of 1.0MPa or below.
Through the concurrent use of a CC series air-hydro unit, it is possible to
operate at a constant or low speed or to effect an intermediate stop, just

.ge . like a hydraulic unit, while using pneumatic equipment such as a valve.
Specifications v op quie
Bore size (mm) 020, 925, 832, 340, 650, 663 Specifications CJ1
Acti i i [
cf -lon Double actlng/Slngle rod Style Air-hydro Cylinder —
Fluid Air Bore size (mm) 020, 025, 532, 040, 050, 063 CJP
Max. operating pressure 1.0MPa Action Double acting/Single rod —
Min. operating pressure 0.05MPa Fluid Turbine oil CJ2
Piston speed 50 to 750mm/s Proof pressure 1.5MPa —
Cushion Rubber bumper Max. operating pressure 1.0MPa CM2
Min. operating pressure 0.18MPa
Basic, Axial foot, Front flange, Rear flange, Piston speed 15 to 300mm/s
Mounting Front trunnion, Rear trunnion, Clevis Cushion None 085
(Used for changing the port location by 90° degrees.) Ambient and fluid temperature +5 to 60°C —
* Auto switch can be mounted. Thread tolerance JIS class 2 C76

Applicable Tube 0.D./I.D.
Bore size (mm) 220 225 232 240 50 263
Applicable tube (mm) 06/4 | 06/4 | 06/4 | 08/6 |010/7.5/010/7.5

Applicable tube material Nylon, Soft nylon, Polyurethane

+ Refer to p.1.7-3 for other specifications.

Clean Series

Stroke tolerance Up to 1000 *}*mm, Up to 1200 *%¥mm

Basic, Axial foot, Front flange, Rear flange,
Front trunnion, Rear trunnion, Clevis
(Used for changing the port location by 90° degrees.)

Mounting

* Auto switch can be mounted.

Copper Free

MB
MB1
CP95

10-CG1’ Mounting ‘N’ Bore size H Stroke

Clean series (with relief port)

The rod portion of the actuator has a double seal construction, and a relief
port is provided to discharge the exhaust air directly outside of the clean
room. Thus, it is a style that can be used in a Class 100 clean room.

20-CG1’ Mounting H Cushion H Bore size H Stroke ‘

Copper free

This cylinder eliminates any influences of copper ions or fluororesins on
colour CRTs. Copper materials have been nickel plated or replaced with
non-copper materials to prevent the generation of copper ions.

co5
cs1

Specifications Specifications

Bore size (mm) 820, 925, 832, 640, 850, 263, 880, 3100 Bore size (mm) 820, 925, 832, 640, 850, 263, 980, 8100
Action Double acting/Single rod Action Double acting/Single rod
Fluid Air Fluid Air
Max. operating pressure 1.0MPa M‘ax. operaiung pressure 1.0MPa
Vi - Min. operating pressure 0.05MPa

in. operating pressure 0.05MPa _ N Rubber bumper
Cushion Rubber bumper Cushion A Air cushion
Piston speed 50 to 400mm/s . 220 to 63 50 to 1000mm/s

- - Piston speed

Relief port size M5 280/100 50 to 700mm/s

Mounting Basic, Axial foot, Front flange, Rear flange

+ Auto switch can be mounted.

O

Basic, Axial foot, Front flange, Rear flange,
Front trunnion, Rear trunnion, Clevis
(Used for changing the port location by 90° degrees.)

Mounting*

+ Front/Rear trunnion styles are not available for bore sizes 80 and 2100. Refer to p.1.7-8
for dimensions.
* Auto switch can be mounted.

1-7-5



Series CG1

Water Resistant

C_DG1 ’Mounting‘ ’Bore size‘ m Stroke == G5BAL |-XC6

Made to order

With auto switch
(built-in magnet) Solid state switch
(Water resistant/

2 color indicator)

Water resistant

R [ Seal: NBR (Nitrile rubber)
V__| Seal: FKM (Fluorine rubber)

Ideal for use in a machine tool environment exposed to coolant mist. Also
suited for use in areas in which water splashes, such as food processing
equipment or car washers.

Specifications

Action

Double acting/Single rod
232, 940, 850, 863, 880, 100
Rubber bumper/Air cushion

Bore size (mm)

Cushion

Auto switch mounting method Band mounting

Made to order Material of the piston rod and rod end nut is stainless steel. (-XC6)

* Other specifications are the same as the standard model.

Dimensions

Rubber bumper
GA

8
]
| iN)
T Mnri =
e g - i
2
(F1) || TA
S + stroke F
Z7 + stroke
Air cushion wa
GA °
[=]
& 0
L
il
i _ aa
S 2 (NN
(F1) || TA
S + stroke F
ZZ + stroke
(mm)
Bore (mm) | (E1) | E* | (F1) | F* | GA S TA | WA 7z
32 17 | 18 2 2 18 77 (85) 17 | 20 [119(127)
40 21 | 25 2 2 19 84 (93) 18 | 21 [136(145)
50 26 | 30 | 2 2 | 21 97 (109) | 20 | 23 |[157(169)
63 26 | 32 2 2 21 97 (109) 20 | 23 |[157 (169)
80 32 | 40 3 3 28 | 116(130) | — | 30 |190 (204)
100 37 |50 | 3 3 |29 | 117(131) | — | 31 [191 (205)

* These dimensions and other dimensions not indicated here are the same as standard.
Note) ( ): Long stroke

1-7-6

/\ Precautions

= " e o Em Em Em Em Em Em R Em Em Em Em Em Em B o

-
! Be sure to read before handling. :
1 Refer to p.0-39 to 0-46 for Safety Instructions
1 and common precautions. I

-

e o o o o o e e

] Precautions on handling

/A Warning

(D Do not operate the cushion valve in the fully closed or fully
opened state.

® Using it in the fully closed state will cause the cushion seal to
be damaged. Using it in the fully opened state will cause the
piston rod assembly or the cover to be damaged.

(2) Operate within the specified cylinder speed.

@ Failure to do so will damage the cylinder and the seals.

/\ Caution

(D Do not use the air cylinder as an air-hydro cylinder. This
will cause an oil leak.

(@ Install without twisting the bellows.

@ [f the cylinder is installed with its bellows twisted, it could
damage the bellows.

] Disassembly/Replacement

/\ Caution

(D Do not replace the bushings or the cushion seals.

® The bushings and the cushion seals are press-fit. To replace
them, they must be replaced together with the cover assembly.

(2 To replace a seal, apply grease to the new seal before
installing it.

@ If the cylinder is put into operation without applying grease to
the seal, it could cause the seal to wear significantly, leading to
premature air leakage.

(3 Do not replace One-touch fittings.

® Because pipe fittings are press-fit, they must be replaced
together with the cover assembly.

@ Those with a bore of 850 or more cannot be disassembled.
® When disassembling a cylinder with a bore of 820 to @ 40, use
a vise or the like to hold the wrench flats portion of the tube
cover or the rod cover on one side, while placing a wrench or
an adjustable wrench on the other side to loosen and remove

the cover. To replace, tighten it an additional 2... from the
installed position. (Those with a bore of 50 or more cannot be
disassembled because they have been tightened with greater
torque. If they must be disassembled, contact SMC.

O
:



Construction

Standard: Double Acting Single Rod Series CG1

With rubber bumper

280, 2100

280, 2100

With air cushion

./

AT

Long stroke

([) a9

Component Parts

Long stroke

No. Description Material Note

©) Rod cover Aluminum alloy White hard anodized

@ Tube cover Aluminum alloy White hard anodized

©) Piston Aluminum alloy Chromated

) Piston rod Carbon steel Hard chrome plated

® Bushing Qil impregnated sintered alloy 240 or larger: Lead bronze cast
® Bumper A Urethane

@ Bumper B Urethane 240 or larger: the same as damper A
Snap ring Stainless steel Except for 80 and 100

® Wear ring Resin

Rod end nut Rolled steel Nickel plated

a Piston gasket NBR

@ Cushion ring A Brass

(B} Cushion ring B Brass 232 or more: the same as A
Seal retainer Rolled steel Nickel plated/Except for long stroke
@ Cushion valve Rolled steel Electroless nickel plated
Valve retainer Rolled steel Electroless nickel plated

W) Lock nut Rolled steel Nickel plated

Cushion seal A Urethane

Cushion seal B Urethane 232 or larger: the same as A *
20 Cushion ring gasket A NBR

Q) Cushion ring gasket B NBR 232 or larger: the same as A
@ Head cover Aluminum alloy White hard anodized

) Cylinder tube Aluminum alloy Hard anodized

Note) A magnet is equipped on the piston of the cylinder with auto switch.
+ The material is stainless steel on auto switch equipped styles 620 and 25.

Replacement Parts/With rubber bumper

No.

Description

Bore size (mm)/Part No.

Material

220 025 232 240 050 063 080 0100
@ Rod seal NBR PDU-8Z PDU-10Z | PDU-12LZ | PDU-16Z | PDU-20Z PDU-20Z PDU-25Z PDU-30Z
) Piston seal NBR PPD-20 PPD-25-19 PPD-32 PPD-40 PPD-50 PPD-63 PPD-80 PPD-100
) Tube gasket NBR | CM-020-16-123| CM-025-16-124| CM-032-16-126| CM-040-16-127|CM-050-16-128 |CM-063-16-129 | CM-080-16-152 |CM-100-16-153

With air cushion (Parts ) to @ are the same as rubber bumper style.)

@

Valve seal

NBR

O ring 94.5 X 22.5 X o1 O ring 85.5 X 3.5 X g1 O ring ©6.5 X 94.5 X o1

Gasket for valve retainer

NBR

O ring 96.4 X 5.2 X 90.6 O ring 97.4 X 5.8 X90.8 | Oring211.4 X 29.4 X o1

1-7-7

O

SVC

e _




Series CG1

Basic/CG1BN: With Rubber Bumper

AT GA 2-RC(PT)P GB
TA/TB Width | o ]
cross section MM _H1_ zcrods y
2-TC \ || flats BY /
__/ Vol ,-"f k
S o -\\ I.-"f : !I
8\l -
al o
8 MR E Ot :
AL
TE T A kF|TA| \aTC
1F H | S + Stroke
Z7 + Stroke
__hase ) uw|
ZZ + ¢+ Stroke
Built-in One-touch fitting Air-hydro

GA

oHD

Pipe O.D. ePD

I A =
! ' -l L S + Stroke .
% ' - J ZZ + Stroke
Other dimensions are the same as the long stroke standard.
Other dimensions are the same as standard.
(mm)
Bore |Standard |Long stroke
(mm) | stroke (mm) _ (mm) A|AL|B1|C|D|E|F |GA| GB | H |H1| I J K |KA| MM |[NA|P S TA| TB o4
20 Upto200 | 20110350 | 18 |155[ 13 |14 | 8 |[12]| 2 [12]| 12 |[35| 5 |26| M4Depth7 | 5 | 6 M8 24 [1/8] 69 (77) | 11| 11 [106 (114)
25 Up to 300 | 3010400 | 22 [195]| 17 [165[ 10| 14| 2 [12[10(12)| 40| 6 |31 | M5Depth75 |5.5| 8 |[M10X1.25/29 [1/8| 69 (77) [11| 11 [111(119)
32 Up to 300 | 3010450 | 22 [195]| 17 |20 |12 18| 2 [12[10(12)|40| 6 |38 | M5Depth8 |5.5| 10 [M10 X 1.25355[1/8| 71 (79) |11 [10(11)[113 (121)
40 Upto300 | 30110800 |30 |27 |19 |26 |16 |25| 2 [ 13 |10(13)|50 | 8 |47 | M6Depth12 | 6 | 14 [M14 X 1.5| 44 |1/8| 78 (87) | 12 [10(12)[130 (139)
50 Up t0 300 |301t01200| 35|32 |27 |32]20(30| 2 |14 [12(14)| 58|11 |58 | M8Depth16 | 7 | 18 [M18 X 1.5| 55 | 1/4| 90 (102) | 13 [12(13)| 150 (162)
63 Up to 300 |301t01200| 35 |32 |27 |38 (20|32 | 2 [ 14 [12(14)|58 | 11 |72 | M10Depth16 | 7 | 18 |[M18 X 1.5 69 | 1/4| 90 (102) | 13 |12 (13)| 150 (162)
80 Up to 300 | 30110 1400| 40 | 37 [ 32|50 | 25|40 | 3 |20 |16(20)| 71 | 13 | 89 | M10Depth22| 10 | 22 [M22 X 1.5/ 80 |3/8| 108 (122) | — | — [182(196)
100 Up to 300 | 30101500 | 40 | 37 | 41 |60 |30 |50 | 3 [20[16(20)| 71| 16 |110| M12Depth22| 10 | 26 [M26 X 1.5/100|1/2| 108 (122) | — | — [182 (196)
Note 1) ( ): Long stroke Note 2) Trunnion mounting taps with width across flats NA are not attached for bore size 80 and 100.
TA/TB cross section (mm) With rod boot (mm)
Bore Bore . . .
(mm) TC* TDHo | TE|TFITG o) | f | D [N]JHWEel 2z Built-in One-touch fitting Air-hydro
20 M5 8*3% | 4 |05]55 20 30 | 16 | 55 | 27 |(145)| (115) 126 (134) Bore Bore
25 M6 X0.75| 10*8% | 5 | 1 |65 25 30| 17 | 62 | 32 |(175)|(115) 133 (141)  (mm) GA| GB |HDHH|PD (mm) S |#
32 M8X1.0| 12*8%8 | 55| 1 |75 32 35|17 | 62|38 |(195](115)] & [135(143) 20 12 [10(12)| 13 |242| 6 20 70 | 107
40 M10X1.25| 14*398 | 6 [1.25|8.5 40 35|17 | 70 | 48 | (25)|(13) %150(159) 25 12 [10(12)| 13 |267| 6 25 70 [ 112
50 Mi12X1.25| 16*3%8 [ 75| 2 | 10 50 40| 17 | 78|59 |(25)| (13)| 1 [170 (182) 32 12 110(12)| 13 [302| 6 32 72 114
63 M14 X 1.5] 18*3%8 [115| 3 | 145 63 40| 18| 78| 72 |(25)|(13)| o [170 (182) 40 12 |10(12)| 16 [346| 8 40 |80 132
80 — — — | — | = 80 5210 (80|59 | — | — 191 (205) 50 13| 13 |20 [406] 10 50 95 | 155
100 — — — | == 100 [62] 7 |80 |71|—|— 191 (205) 63 13| 13 |20 |471]10 63 95 | 155
* The minimum stroke for rod boot equipped style is 20mm.  Note) ( ): Long stroke
1-7-8

O

SvC



Standard: Double Acting Single Rod Series CG1

With Mounting Bracket

Axial foot/CGNLN Axial foot (mm)
Bore | o |\6lip|th| Ls |17|ix|iz|M| W | X | Y firana L
(mm) Without [With rod| Without | With rod
rod boot| boot | rod boot boot
20 [34]46[20145(53)3(32[44[3[10[15[7 | 47 | 67+¢ | 10(118) | 130(138)+¢
- — 25 (35|46 [22145(53) 3(36(49(35(10 |15 |7 | 52 | 74+¢ |1155(1235)1375 (1455) +¢
5 32 [45|4|66]25045(53) 3|44 |58(35|10 |16 |8 | 53 | 75+¢ |1175(1255)]1395(1475) +
—| 40 |55 4 [66/30/51 (60) 3 [54|71]4 |10 [ 165 [85] 63.5 |83.5+¢| 135(144) | 155 (164) ¢
{ 2-0LC _ _ 50 [705]|5 |9 |40[55(67)45|66 |86 |5 |175| 22 [11] 75.5 |95.5+¢| 1575 (1695)[1775 (1895) +¢
‘KL“S"‘—"‘ Fg'"kp"s‘“m’ 63 [es]5 114555 (6745 82| 106 5 [ 175 22 [13] 75.5 |955+¢[ 1515 g msmg  |CU1
e 80 | 101] 6 |11]55]60 (74)45] 100 | 125 | 5 | 20 | 285 [14] 95 | 104+¢|1g85 puegfwrspiis e ————
100 [121]6[14]65]60 (74] 6 [ 120 [ 150 [ 7|20 [ 30 [16] 95 [104+¢] 120209 [0t |CJIP
Note) ( ): Long stroke —
CJ2
Front flange/CG1FN Flange ) eM2
Bore Stroke range Hearzﬂzange —
E_ET (mm) B| B | F XD T st T Wit rod
i Front Rear rod boot | boot C85
' 20 |Upto350|Upto200| 40 [ 12 | 2 |28 55| 6 | 112 | 1324 ——
25 |Upto400|Upto300| 44 | 14 | 2 [ 32|55 7 | 118 | 140+ C76
32 |Upto450|Upto300| 53 | 18 | 2 |38 [66] 7 | 120 | 14204 L——
= = 40  |Upto800|Upto500| 61 | 25 | 2 | 46 | 6.6 | 8 [138(147)[158(167) +
50 |Upto1200/Upto600| 76 | 30 | 2 | 58 | 9 | 9 [159 (171)[179 (191) +¢
63  |Upto1200{Upto600| 92 | 32 | 2 | 70 | 11 | 9 [159 (171)[179(191) +
80 |Upto1400/Upto750|104| 40 | 3 | 82 | 11 | 11 [193 (207)[202 (216) +¢ MB
100 |Upto1500{Upto 750|128 | 50 | 3 [100| 14 | 14 [196 210)02(219)#¢
Bl Note 1) ( ): Long stroke MB1
Note 2) End boss is machined on the flange for gE. —
Rear flange/CG1UN CP95
C95
C92
_Gt —
CA1
CJFX t0as | etl |F CS1
0oB ZZ + stroke S —_—
Front trunnion/CG1UN Trunnion (mm)
Bore | Strokerange | o | rpeg | 1e | TE | TH|TR | TS | TT | TV
~— B Bracket mounting range (mm) | Front |_Rear
i TS 20 |Upto200jUpto200] 38 | 83935 10 | 55| 25 | 39 | 28 [ 3.2 [358
; 25 |Upto300{Upto300{45.5| 10-3:332| 10 | 5.5 | 30 | 43 | 33 | 3.2 [39.8
TE : ’_‘ AT 32 |Upto300Upto300] 54 | 12-3-323| 10 | 6.6 | 35 [54.5| 40 | 4.5 [49.4
=\ el Pl 40 |Upto500{Upto500/63.5] 14=33%] 10 [ 6.6 | 40 [65.5] 49 | 4.5 [58.4
TEBSPZN L e 50 |Upto600jUpto600| 79 | 16-3:332] 20 | 9 [ 50 | 80 [ 60 | 6 [724
) 63 |Upto600{Upto600] 96 | 1823:325| 20 | 11 | 60 | 98 | 74 | 8 [90.4
T Front Rear
Ix Bore | rw | Tx | TY | T2 Z Z 7z
(mm) Without | With rod | Without | With rod | Without | With rod
rod boot boot rod boot boot rod boot boot
77 + stroke 20 [42 |16 | 28 [476] 46 | 66+ | 93 |113+¢| 114 |134+¢
25 |42 |20 |28 53| 51 | 73+ | 98 |120+¢| 119 |141+¢
Bracket 40 |56 |30 |30 |787| 62 | 82+¢ [118 (125)[138(145) /146 (153)|166 (173)
gﬂ;gﬁng 50 | 64|36 |36 |986( 71 | 91+¢ [136(147)[156(167)+[168 (179)/188(199)

63 74 | 46 | 46 [ 1192 71 91+¢ [136 (147)[156 (167) +|173 (184)[193 (204) +¢
* Consists of pins, flat washer and hexagon socket head cap bolt.

Note 1) ( ): Long stroke

Note 2) Refer to p.1.7-11 for pivot bracket.

Z + stroke
ZZ + stroke

1-7-9



Series CG1

With Mounting Bracket

Clevis/CG1DN Clevis (mm)
220 to 063 Bore |Swokerangel o | on | ox [cz | L |RR| v | TE | TF | TH
cz 8-J oCD External (mm) (mm)
e TT L _RR T"tﬂ i 20 |Upto200/ 38 | 8 | — [29 [ 14 | 11 | — | 10 |55 ] 25
! =L S A
g / mema 25 |Upto300[455] 10 | — | 33 | 16 | 18 | — | 10 | 55 | 30
32 Upto300| 54 | 12 | — | 40 | 20 | 15 | — | 10 | 6.6 | 35
40 Upto500/635| 14 | — | 49 | 22 | 18 | — | 10 | 6.6 | 40
50 Upto600| 79 | 16 | — | 60 | 25 | 20 | — | 20 | 9 | 50
63 Upto600| 96 | 18 | — | 74 | 30 | 22 | — | 20 | 11 | 60
—— i 80 Upto750/99.5| 18 | 28 | 56 | 35 | 18 | 26 | — | 11 | 55
7 + Stroke -ﬂfy— 100 |Upto750/120| 22 | 32 | 64 | 43 | 22 | 382 | — |13.5| 65
22 Sk ] B With rod boot| Applicabl
(rr?rl;?) T TV | TW [ TX | TY | 12| Z |22 [T e
(The above shows the case port location is changed by 90° degrees.) pin p .
20 3.2 |35.8| 42 | 16 | 28 |43.4| 118|139 | 138+ | 159+ | CD-GO02
25 3.239.8| 42 | 20 | 28 | 48 | 125|146 | 147+ | 168+ | CD-G25
280, 0100 32 45(49.4| 48 | 22 | 28 |59.4| 131|155 | 153+ | 177+ | CD-G03
L RR  oCDExternal 150 | 178 | 170+¢ | 198+¢
TNT Hio 40 45 (584 56 | 30 | 30 [71.4 CD-G04
| - Y rr (159) | (187) | (179+9) (22?4
) 173|205 | 193+ + g
y A .% 50 6 |72.4| 64 | 36 | 36 | 86 (185) | 217) | (20544 (23744 CD-G05
Lu—ﬂ_ﬂf_v =i 178 215 | 198+ | 235w
n - 4| 74 | 4 4 1054 D-
. 63 8 |90 6 | 46 | 105 (190) | (227) | (21044 (24740 CD-G06
214 | 2725 | 223+¢ | 281.5¢
st 80 11 |110| 72 | 85 | 45 | 64 (228) | (63 |27+ 095524 1Y-G08
+ alroke
77+ Siroke 222 | 2985 | 231+¢ | 307.5+¢
100 12 |130| 93 |100| 60 | 72 (236) | p125) | (24540 (2154 1Y-G10
Note 1) ( ): Long stroke
* Clevis pins and snap rings are attached for the clevis style. Note 2) Refer to p.1.7-11 for pivot bracket.
Basic/With Air Cushion: CG1BA
MM WA_ 2-P
Width across ... / _.G_‘&_| /
flats B1 z’f | j,f'
|/ K %’
c*_ _‘L__.; 4 ' _
ool O TN | -
w e N | N
[l - N
AL
A_LLK \
F ||TA| \4-TC IB|_F | LKA
H S + Stroke JC=0.1
D T Zzioke N LN
. With rod boot (mm)
With rod boot Bore
_ (mm) e | f|h|IJ|JH|JW| ¢ zz
ﬂ I 20 30 | 16 | 55 | 27 |(145)|(115) 126 (134)
% o 1 25 30 | 17 | 62 | 32 |(175)|(115) 133 (141)
\ 32 35|17 | 62 | 38 |(195)|(115)| £ [135(143)
1 = 40 35|17 | 70 | 48 |(225)| (13) % 150 (159)
50 40 |17 | 78 | 59 |(25)|(13)| o |170(182)
8 ¢ f |JW 63 40 |18 | 78 | 72 |(25)|(13)| © [170(182)
hte T 80 5210|8059 | — | — 191 (205)
77 + ¢ + Stroke 100 62| 7 |80|71|—|— 191 (205)
* The minimum stroke for rod boot equipped type is 20mm.
Bore  [Standard stroke Long stroke o
(mm) | range m) | range () A|AL|B1|C|D|E|F|GAl GB |H [H1| | J K [KA| MM |NA P S [TA| TB | TC ZZ |WA[{WB|WH [ W6
20 Up t0 200 20110350 [18[155[13[14| 8 [12| 2 [12|10(12)|35| 5 |26 M4Depth7 | 5|6 M8 24 M5 B9 (77)11] 11 M5 [ 106(114) | 16 [15 (16} 23 |30°
25 Up to 300| 301t0400 [22]195|17[165|10|14| 2 |[12|10(12){40 | 6 [31| M5Depth75 [55| 8 |[M10 X 1.25/29 M5 |69 (77)|11] 11 |M6 X 0.75] t1(119) 1615(16*25 30°
32 Up to 300 301t0450 {22]195/17[20]|12|18| 2 [12|10(12)[40 | 6 |38 M5Depth8 |55]10|M10 X 1.25/355| Rc(PT)1/8 |71 (79)| 1110 (11) | M8 X 1.0 | 113(121) 1615(16)128.5 25°
40 Up to 300| 301t0800 {3027 |19(26|16|25| 2 [13[10(13)[50 | 8 |47| M6Depth12 | 6 |14 [M14 X 1.5/44 | Rc(PT)1/8 [78 (87)| 12|10 (12) [M10 X 1.25 130(139) 1615(16*33 20°
50 Up to 300{301t01200({35|32|27[32|20|30| 2 |14 [12(14)| 58 11|58 M8Depth16 | 7 |18 |M18 X 1.5/55 | Rc(PT)1/4 |90 (102)[ 13 |12 (13) [M12 X 1.25| 150(162) |18 17(18)[40.5 20°
63 Up to 300[301t01200|35[32|27|38|20(32| 2 [14 |12 (14)[ 58 |11 [72| M10Depth 16 | 7 [18|M18 X 1.5{69 | Rc(PT)1/4 (90 (102)| 13|12 (13) [M14 X 1.5 150(162) | 18 [17(18}47.5[20°
80 Up to 300{301t01400|{40[37|32|50|25|40| 3 |2016(20)| 71 | 13|89 | M10Depth 22 | 10|22 |M22 X 1.5|80 | Rc(PT)3/8 |108(122)| —| — — | 182(1%) [22]2260.5]20°
100 |Up to 300(301t01500({40|37|41[60|30|50| 3 [2016(20)| 71 [16|110| M12Depth22 [ 10|26 [M26 X 1.5/100| Rc(PT)1/2 [108(122)) —| — — | 182(1%) [22]22]| 71 |20°
Note 1) ( ): Long stroke
Note 2) Trunnion mounting taps with width across flats NA are not attached for bore size @80 and 100.
Note 3) Refer to p.1.7-11 for mounting brackets.
1-7-10

O

SvC



Series CG1
Accessory Dimensions

Single Knuckle Joint

Double Knuckle Joint

1-G02, Go3 I-G04, GOS, GO8, G10  Material: Y-G02, G03 Y-G04, G05, G08, G10
MM NDH10 Cast iron Material: Rolled steel ~ @ND External H10 Material: Cast iron
N MM @NDHto " Intemal d9 oND External H10
5! 1 e L MM /’r Internal d9
| -r g LU
+ - ( - A
IE' w | |Ei l.u] ]__L.rl_\& 2, R ; CJ1
_A_1] lLJ_‘] + A -] —
NX | [ L1 NX 1 Pk CJP
| 1 !
A A NX
Material: Rolled steel NZ C
Bore size (mm) J2
Part No. (mm) A | A |El| Lt MM R1 | U1 | ND+10 NX ——
Bore Applicabl
1KGo2 | 20 [34[85|016[25| M8 [103[115] 8398 833 Rart gz | A |At[Er|Li| MM |Ri|UT|ND| NX |NZ| L ppp'ﬁ]abe CM2
I-GO3 | 25,32 | 41 |105|020| 30 [M10X1.25| 128 | 14 [10 *3%%%| 10 233 Y-G02| 20 |34 |85|016| 25| M8 |10.3]115] 8 | 8503 16 |21 | Iv-Go2 [———
0.058 -0.3 . . . S
1G04 | 40 142114 1022/ 30 IM14X 1512 114 0% ~| 18 o5 Y-G03 25, 32| 41 [105]020[ 30 [M10X1.2512.8] 14 | 10 [10:33] 20 [25.6[ Iv-Gos | C85
elvs Lt Gel ol il 7 (it AL VIGLAD et LR o Y-G04| 40 | 42 | 16 |022[ 30 |M14X 15[ 12 | 14] 10 18:35 36 |41.6] IV-Go4 ———
I'GO8 | 80 |71 |21 |038|50 |M22X 15|21 127 118 ¢ | 2805 Y-GO5 50, 63| 56 | 20 |028] 40 [M18X 15| 16 | 20 | 14 2213544 506 I-G05 |C76
-G10 | 100 |79 |21 |044] 55 [M26X15]24 | 31|22 7G| 3203 Y-G08| 80 | 71|23 [038] 50 [M22X 1.5] 21 |27 | 18 [28:93] 56 | 64 | IV-G08 Lo
i Y-G10| 100 | 79 | 24 [044] 55 [M26 X 1.5| 24 | 31 [ 22 [32333] 64 [ 72 | IY-G10
KnUCkIe Pln * Knuckle pins and snap rings are attached. CG1
I Pivot Bracket MB
El] —
m| || ¢l m 020 to 263
Iza L L Material: Rolled steel MB1
) R e N TU —
Material: Carbon steel (mm) oTd CP95
Bore size Applicable TR,
Part No. | =00 Dd9 Lfd]e|m|t | nng }(Z
IY-G02 20 83950 21 | 7.6 |16.2] 1.5 | 0.9 | C-8typefor piot 4010 & e Cc95
IY-G03 | 25,32 | 1023872|25.6| 9.6 [20.2|1.55 | 1.15 |C-10type for pivot °- 9 ! Sk i
1Y-Go4 40 | 1028878/141.6] 9.6 |36.2]1.55]1.15 [C-10type for pivot gmfgle S N L c92
IY-GO5 | 50,63 | 1423853/50.6| 13.4 |44.2]2.05 | 1.15 |C-14type for pivot v f
1Y-G08 80 18 20033 64 | 17 |56.2]2.55 | 1.35 |C-18 type for pivot — 7CA1
IY-G10 100 | 22 3% 72 | 21 |64.2]2.55]1.35 |C-22type for pivot
. . 280 to 100 —
Clevis Pin Material: Cast iron CS1
TN oTR oTd —
Tl Y, /
— S =1k
[-3=]
— I
ml [ m k Nlm
- L N [ g |
t s St ': T
Material: Carbon steel (mm) . i —_— |_# |
H | i L
Bore size Applicable i y
PartNo. (BYeSZel Dds | L | d | ¢ | m | v |APPIcaDe 4-oTF || o _,%J
CD-G02 20 8 294243.4] 7.6 [38.6] 1.5 | 0.9 |C-Btypefor pivot (mm)
CD-G25 25 1020.078| 48 | 9.6 [42.6] 1.55 | 1.15 |C-10type for pivot -
CD-G03 32 12 20:083/59.4| 11.5 | 54 | 1.55 | 1.15 |C-12 type for pivot Part No. B‘z;gnﬁ')ze TB | Td |[TE|TF |TH |TN [ TR | TT
CD-G04 40 14 3383]71.4] 134 65 [ 2.05 | 1.15 [C-14type for pivot
= . CG-020-24A 20 36 | 8 |10 [55] 25 [(29.3)] 13 | 3.2
CD-G05 50 16 3333| 86 [ 15.2|79.6] 2.05 | 1.15 [C-16type for pivot CG025.04A 25 43 90 T10 T55 130 E331; e 3o
CD-G06 63 18 3333]105.4 17 |97.8] 2.45 | 1.35 |C-18type for pivot : ‘ :
# Clevis pins and knuckle pins are common for bore size 80 and 2100. gg-gzz-gzz 2(2) gg 1‘2‘. 18 gg 23 Ejgg; ;: 22
Rod End Nut CG-050-24A 50 70 | 16 | 20 | 9 | 50 [(604)| 24 | 6
Material: Rolled steel CG-063-24A 63 82 | 18 | 20 | 11 | 60 |(746)| 26 | 8
CG-080-24A 80 73 [ 18 | — [ 11 | 55 [283%] 36 | 11
CG-100-24A 100 90 | 22 | — |13.5] 65 |32:83] 50 | 12
Bore size Applicable
Part No. mmy | TU | TV | TW T TY | Tz | SRS
CG-020-24A 20 |18.1]35.8] 42 | 16 | 28 [38.3] 8d9 5532
(mm) CG-025-24A | 25 |20.7[39.8] 42 | 20 | 28 [42.1] 10d9 332
Part No. BO(rneq r?ql)ze d Hi | B c |b CG-032-24A 32 |23.6(49.4| 48 | 22 | 28 |53.8] 12d9 :8;8?8
CG-040-24A 40 |27.3|58.4| 56 | 30 | 30 |64.6] 14d9 333
NT-02 20 M8 5 [ 13] (15 |125 CG-050-24A | 50 |29.7[72.4| 64 | 36 | 36 [79.2] 16d9 3383
NT-03 25, 32 M10X1.25| 6 | 17 | (19.6) | 165 CG-06324A | 63 |34.3(90.4| 74 | 46 | 46 |97.2| 18d9 9383
NT-G04 40 M14X15| 8 | 19 | (21.9) | 18 CG-080-24A | 80 | — | — | 72 | 85 | 45 | 110 | 18d9 23959
NT-05 50, 63 M18X1.5 | 11 | 27 | (31.2) | 26 CG-100-24A | 100 | — | — [ 93 [100] 60 [ 130 22d9 5%
NT-08 80 M22X 1.5 | 13 | 32 | (37.0) | 31
NT-10 100 M26 X1.5 | 16 | 41 | (47.3) | 39
1-7-11

O

SVC



1-7-12

Series CDG1
Auto Switch Specifications

Refer to p.5.3-2 for details of the auto switch.

AT

-
¥ -‘" .JI
—~

Applicable auto switch

N

Auto switch model Electrical entry (Function) ’%%egcg%e Page
D-C7,C8 Grommet 5.3-9
220 to 963
Reed D-C73C, C80C Connector 5.3-11
switch D-B5, B6 Grommet 5.3-10
020 to 2100
D-B59W Grommet (2 colour indicator) 5.3-25
D-H70] Grommet 5.3-29
D-H7OW Grommet (2 colour) 5.3-42
D-H7LF Grommet (2 colour, Latch with diagnostic output) 5.3-49
220 to 863
D-H7NF Grommet (2 colour, Diagnostic output) 5.3-50
Solid state D-H7BA Grommet (2 colour, Water resistant) 5.3-55
switch D-H7C Connector 5.3-31
D-G5, K5 Grommet 5.3-30
D-G500W, K59W Grommet (2 colour) 5.3-43
D-G59F Grommet (2 colour, Diagnostic output) {920 to 100| 5.3-51
D-G5NT Grommet (With timer) 5.3-59
D-G5BA Grommet (2 colour, Water resistant) 5.3-56

/\ Precautions

e |

I Be sure to read before handling.
I Refer to p.0-44 to 0-46 for Safety Instructions and common 1

precautions.

P |

O



Auto Switch Mounting Position and Mounting Height

Standard: Double Acting Single Rod Series CG1

D-C7, D-C8 D-G5, D-K5, D-G500W, D-G5BA
020 to 063 D-K59W, D-G59F, D-G5NT .
12 Auto switch =Hs
" ]
_ . U
=3 ) e e 5}
LAl ] "R cJ1
D-H7, D-H7OW D-C73C, D-C80C =
D-H700F, D-H7BA 020 to 063 _ CJP
220 to 063 Auto switch 8.5 Auto switch =Hs e —
=Hs —I T
T - , CJ2
3 © [ o l _@ ‘.‘J = EI l —
_Ila } i O |- - -2 = ﬁ
I = 1
Q © s i cMm2
I LA 1367 LB —
(36) ( ): D-H7LF D-H7C C85
D-B5, D-B6, D-B59W _ 220 to 263 P
02010 100 12 Auto switch 85 _=Hs C76
b .
N 1 I 2 CG1
SN =
=T E=iECR: & MB
A 33._ L._A_..,.._8.‘2 [ _B_' —
MB1
Auto Switch Mounting Position (mm) Mounting Height (mm) 7CP95
Auto SW“ghl e D-B5.B6 D-C7,C8 D-B5,B6 D-G5NTL
model | D-C7,C8 ? D-H7OW | D-G5 D-H7O] D-B59W  D-G59F
’ y D-H70O H
pcrac | D% WS Wp.gsow | o7 [DHIOF | DS D-H7OW Dor8C | p-6s, ks DeTC C95
D-csoc | D-G59F D-H7BAL |D-GSNTL  D-H70F D-G5OW D-G5BAL ~———
D-GSBAL D-H7BAL D-K59W Cc92
Bore A B A B A B A B A B A B HS HS HS L
20.5 15 17.5 19.5 18 16
20 30 | oanl 2 | 27 |@ss| 2 || 275 26) | 255 | oa) 24.5 27 27.5 CA1
20.5 15 17.5 19.5 18 16
25 30 (285) 24 (225) 27 (25.5) 29 (27.5) 27.5 (26) 25.5 (24) 27 29.5 30 CS1
21.5 15.5 18.5 20.5 19 17
32 31 (295) 25 (23.5) 28 (26.5) 30 (285) 28.5 27) 26.5 (25) 30.5 33 33.5
24 18 21 23 21.5 19.5
40 35.5 (33) 29.5 ©7) 32.5 (30) 34.5 (32) 33 (305) 31 (285) 35 37.5 38
28.5 22.5 25.5 27.5 26 24
50 43 (40.5) 37 (345) 40 (37.5) 42 (39.5) 40.5 (38) 38.5 (36) 40.5 43 43.5
28.5 22.5 25.5 27.5 26 24
63 43 (40.5) 37 (345) 40 (37.5) 42 (395) 40.5 (38) 38.5 (36) 475 50 50.5
31 34 32.5
80 — | — |46.5 (45) 49.5 @8y | — — | — | — | 48 (465) — — 59
31 34 32.5
100 — | — |46.5 (45) 49.5 @8y | — — | — | — | 48 (46.5) — — 69.5
( ): Long stroke, bore size 20 to @100, Double rod
Auto Switch Mounting Bracket and Surface St: Stroke (mm)
Mounting bracket Basic/Foot/Flange/Clevis Trunnion*
1 2 2 2 2
Number of switches . On different)|(On the same 1 On different)|(On the same
(Front side) || “surfaces surface ) ( surfaces ) surface
Moupfting Syﬂace Syﬂace Spgace
surrace with port with port with port T
5Lo 519 Ifcm _':ﬂ» L]
S @ IJI\@?, I} I;%;J B
Auto switch —
model
D-C7,C8 10st or more| 15t0 49st |50st or more | 10st or more | 15to 49st |50st or more
D-H7L, H7TDW 10st or more | 15to 59st |60st or more | 10st or more | 15to 59st |60st or more
D-H7BA, H7NF
D-C73C, C80C, H7C| 10st or more | 15 to 64st |65st or more | 10st or more | 15 to 64st |65st or more
D-H7LF 10st or more | 20 to 64st |65st or more | 10st or more | 20 to 64st | 65st or more
D-B5, B6, G501, K5
D-G500W, K59W, G5BA | 10st or more | 15 to 74st | 75st or more | 10st or more | 15 to 74st | 75st or more
D-G59F, G5NT
D-B59W 15st or more | 20 to 74st | 75st or more | 15st or more | 20 to 74st | 75st or more 1-7-13
* Trunnion style is not available for bore sizes 80 and 100. -
4 SNC



Standard: Double Acting Double Rod

Series CG1W

020, 025, 932, 040, 0650, 063, 880, 6100

How to Order

ca1w [LIINI25 100

T T T T T 1

TP coatw [L]N][25H100] }HB53

| *Number of
With auto switch auto switches
(magnet) — 2
Applicable auto switch s | 1
Double acting/Double rod _ ‘ Without auto switch n | n
(Built-in magnet) _
Mounting ® = Refer to the tablel below
- for selecting applicable
B Basic auto switches.
L Axial foot
T Front s * Rod boot
: . — Without rod boot
® l;lr?(tjz\nglgble for bore sizes 280 One | J | Nylon tarpaulin
«+ Mounting brackets are included, ¢Cylinder stroke (mm) side | K | Heat resistant tlarpaulin
not mounted. Refer to p.1.7-15 for Both| JJ | Nylon tgrpaulln :
. m Standard Stroke Table. sides| KK | Heat resistant tarpaulin
Cushion * = |n case of foot brackets and front flanges,
N Rubber bumper rod boots are mounted when shipped.
A Air cushion

* Mounting accessories are not mounted, should be order

Bore size separate.Please refer order keys in next pages.
20| 20mm 50 | 50mm
25| 25mm 63| 63mm
32| 32mm 80| 80mm
40| 40mm 100 100mm

Applicable Auto Switches/Refer to p.5.3-2 for further information on auto switch.

S ial 51 Load voltage Auto switch model Lead wire (m)”™
ecla i © Wirin " R Applicabl
swe fuﬂction EIZSI”B?E' 5 (Outpugt) DC AC Applicable boresize__| 0.5 | 3 | & Nonel ““iogq
£ 22010063 | 220100100 | () [(L)[(@)[(N)
3 wire
(NPN) | — 5V — C76 — ® @O — —| IC —
Yes — Bs3 | ® |@|® — |pc
5 Grommet || 1oy | 200V B54 [ AL JIK)
£ No or less B64 oo || —
o Yes ) 100V C73 — o 0 0 —
- 2 wire |24V Rela
3 No 5V, 12V[100V orless] €80 = ®|e || ic Y
< comector YES v [ — c73c — o |ejee
onNeetor Mo 5V, 12V[24vorless|  Cc80C — e |eo|e|e|
Diagnostic indication (2 colour)) Grommet | Yes - — — B59W o0 —|—
3 wire (NPN) SV 12V H7A1 G59 ® |0 O|— .
Grommet 3 wire (PNP) ’ H7A2 G5P ® |0 O|—
H7B K59 ® |0 O|—
2 wire 12v —_—
f-) Connector H7C — [ K 2K J
% ) o 3 wire (NPN) 5V 12V H7NW G59W ® |0 O|— 1
@ | Diagnostic indication Yes|3Wire PNP)| ogy | _ H7PW GSPW | @ (@O |— Relay
® (2 colour) es PLC
% 2 wire . H7BW Ksow | @ [@|O|—|
% Water resistant (2 colour) | Grommet H7BA G5BA — | ®@|O|—
@ With timer 3 wire (NPN) sV 12v G5NT — | @|O|— |c
Diagnostic output (2 colour) 4 wire ’ H7NF G59F ® |0 O|—
Latch with diagnostic output . . _
(2 colour) (NPN) H7LF ® 0 O
*Lead wire length 0.5m--....— e.g.) C73C  5Bmeeeee Zz e.g.) C73CzZ
3meeeeneens L C73CL None----N C73CN

+Solid state switches marked with "O" are manufactured upon receipt of order.

1-7-14
SVC

O



JIS symbol

rder
Made to Order

Refer to p.5.4-1 for made to order
products of series CG1.

Mounting Bracket

Refer to p.1.7-19 for part
numbers of the mounting brackets.

Auto Switch Mounting Band

Refer to p.1.7-19 for part
numbers of the mounting bands.

Standard: Double Acting Double Rod Series CG1 W

Specifications

Bore size (mm)

20 | 25 | 32 | 40 [ 50 | 63 [ 80 | 100

Action Double acting/Double rod
Lubrication Non-lube
Fluid Air
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
Min. operating pressure 0.05MPa ——
Without auto switch: —10°C to +70°C (No freezing) CJ1
Ambient and fluid temperature - - -
With auto switch: —10°C to +60°C (No freezing)
Piston speed 50 to 1000mm/s 50 to 700mm/s CJ P
Stroke tolerance Uptod 000”0‘4 m. vpto 1000}‘: i CJ2
Up to 1200* {8 mm Upto 15007 5" mm  L—u——
Thread tolerance JIS class 2 CM2
Cushion Rubber bumper/Air cushion —
Mounting™* Basic, Axial foot, Front flange, Front trunnion C85
Q = Front trunnion style is not available for bore sizes 80 and 8100. ** No freezing W
Accessories
Mounting Basic ?ﬁl flliarr?g; trEr:%?(t)n MB
Standard | Rod end nut o [ (] ([ J —
Single knuckle joint [ J o o ([ J MB1
. ]%(i)nLtIE)*Ie knuckle ° ° ° ° CP95
Option | (With pins) ———
Pivot bracket* — — — (N C95
Rod boot [ o ([ J ([ J e —
* Pivot bracket is not available for bore size 80 and @100. C92
= Pins and snap rings for double knuckle joint are included, not mounted. —
Stroke CL
Bore size(mm) Standard stroke (mm) (1) Long stroke (mm) | Max. stroke |GG
20 25, 50, 75, 100, 125, 150, 200 201 to 350 —
25 301 to 400
32 301 to 450
40 25, 50, 75, 100, 125, 150, 200 301 to 800 1500
50/63 250, 300 301 to 1200
80 301 to 1400
100 301 to 1500

Note 1) Other intermediate strokes can be manufactured upon receipt of order. Spacers are not used for the
intermediate strokes. Refer to p.1.7-17 to 1.7-19 for dimensions.

Note 2) Long stroke applies to the axial foot style and the front flange style. If other mounting brackets are used,
or the length exceeds the long stroke limit,the stroke should be determined based on the stroke selection

table in the technical data.

With Auto Switch

Rod Boot Materials

The auto switch can be mounted. Refer to
p.1.7-12 to 1.7-14 for the details.

O
:

Symbol Material

Max. operating temp

J Nylon tarpaulin

70°C

K [Heat resistant tarpaulin

110°C*

= Maximum ambient temperature
rod boot only.

for the

1-7-15



Series CGTW

Weight (kg)
Bore size (mm) 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100 /'\ P rec autio ns

= Basic 0.13 | 022 | 033 | 055 | 1.02 | 1.37 | 2.64 | 4.09 -

§’ Axial foot 024 | 035 | 049 | 0.77 | 1.50 | 2.09 | 3.60 | 5.84 r B;s:r;t;r;ad-t;f;re-h;nsli;g.- - '

% Flange 021 | 032 | 047 | 075 | 1.36 | 1.87 | 3.35 | 5.44 I Refer to p.0-39 to 0-46 for Safety I

@ Trunnion 014 | 024 | 036 | 060 | 116 | 151 | — | — I Instructions and common precautions. |
Pivot bracket 008 | 009 | 017 | 025 | 0.44 | 0.80 | — — I Refer to p.1.1-6 for precautions on 1
Single knuckle joint 0.05 | 0.09 | 009 | 0.10 | 0.22 | 0.22 | 0.39 | 0.57 I series CG1. .
Double knuckle joint (with pins) | 0.05 | 0.09 | 0.09 | 013 | 026 | 026 | 0.64 | 1.31 —mmmmmmmmm s
Additional weight by each 50 stroke | 0.07 | 0.10 | 0.13 | 0.23 | 0.34 | 0.38 | 0.54 | 0.77

Additional weight by air cushion | 0,01 | 0.01 | 0.02 | 0.02 | 0.03 | 0.03 | 0.09 | 0.10

Calculation example: CG1WLN32-100 (Foot, 32, 100 stroke)

 Basic weight----c-eoeenee 0.49 (Foot, 832)
« Additional weight-------- 0.13/50 stroke

Construction

« Cylinder stroke:-:----- 100 stroke
0.49+0.13 X 100/50=0.75kg

With rubber bumper

@80, ] 1_(20
8\| @ an( 5) (ﬂj. D)

With air cushion

Component Parts

No. Description Material Note
@ | Rod cover Aluminum alloy White hard anodized
@ | Cylinder tube Aluminum alloy Hard anodized
(3 | Piston Aluminum alloy Chromated
(@ | Pistonrod A Carbon steel Hard chrome plated
(®) | Bushing Oil impregnated sintered alloy 240 or more: Lead bronze cast
® | Bumper A Urethane ) iooed o the bl fth
(@ | Bumper B Urethane @40 or more: the same as bumper A Note) A r_Ubber rpagnet © egwppe on the piston of the
Rod end nut Rolled steel Nickel plated cyllnd.er.wnh guto switch. . .
@ | Piston gasket NBR * The material is stainless steel on auto switch equipped
Piston holder Urethane @40 or more™ styles 620 and 025.
@) | Cushionring A Brass
(12 | Cushion valve Rolled steel Electroless nickel plated
@3 | Valve retainer Rolled steel Electroless nickel plated
Lock nut Carbon steel Nickel plated
@ | Cushion seal A Urethane
Cushion ring gasket A NBR
Replacement Parts/With rubber bumper
No. Description Material Bore size (mm)/Part No.
220 225 232 240 250 263 280 2100
@ Rod seal NBR | PDU-8Z PDU-10Z | PDU-12LZ | PDU-16Z | PDU-20Z | PDU-20Z | PDU-25Z | PDU-30Z
Piston seal NBR PPD-20 PPD-25-19 PPD-32 PPD-40 PPD-50 PPD-63 PPD-80 PPD-100
Tube gasket NBR | CM-020-16-123 | CM-025-16-124 | CM-032-16-126 | CM-040-16-127 | CM-050-16-128 | CM-063-16-129 | CM-080-16-152 | CM-100-16-153

With air cushion (Parts @ to @ are the same as rubber bumper style.)

20 | Valve seal NBR Oring 94.5 X 02.5 X o1 O ring 5.5 X 3.5 X o1 Oring 96.5 X 94.5 X o1
21 | Gasket for valve retainer | NBR O ring 26.4 X 85.2 X 80.6 Oring 67.4 X 85.8 X20.8 | Oringo11.4 X 99.4 X o1
1-7-16

O

SvC



Air-hydro

Standard: Double Acting Double Rod Series CG1 W

Copper Free

CG1W | Mounting ‘H’ Bore

size H Stroke ‘

Air-hydro

A low hydraulic pressure cylinder used at a pressure of 1.0MPa or below.

Through the concurrent use of a CC

series air-hydro unit, it is possible to

operate at a constant or low speed or to effect an intermediate stop, just
like a hydraulic unit, while using pneumatic equipment such as a valve.

20-CG1W’ Mounting H Cushion H Bore size H Stroke ‘

Copper free

This cylinder eliminates any influences of copper ions or fluororesins on
colour CRTs. Copper materials have been nickel plated or replaced with
non-copper materials to prevent the generation of copper ions.

e Specifications
Specifications CJ1
- - Bore (mm) 020, 925, 932, 040, 850, 863, 280, 100 —
Style : Air-hydro Cylinder Action Double acting CJP
Bore size (mm) 020, 925, 832, 940, 850, 963 Fluid Air
Actlion DOUbl‘? acti.ng Max. operating pressure 1.0MPa c
Fluid Turbine oil Min. operating pressure 0.05MPa J2
Proof pressgre 1.5MPa Gushion N Rubber bumper —
Max. opera"ung pressure 1.0MPa A Air cushion CM2
Mlln. operating pressure 0.18MPa . 220 to 063 50 to 1000mm/s —
Piston speed 15 to 300mm/s Piston speed 280, 2100 50 to 700mm/s C85
Cushion None - - - -
- - Mounting* Basic, Axial foot , Front flange, Front trunnion ——
Ambient and fluid temperature +5 to 60°C ) - - -
# Front trunnion style is not available for bore sizes 880 and 2100. Refer to p.1.7-18 C76
Thread tolerance JIS class 2 for dimensions.
Stroke tolerance Up to 1000*%* mm, Up to 1200*%8 mm * Auto switch can be mounted.
Mounting Basic, Axial foot, Front flange, Front trunnion.
* Auto switch can be mounted.
Bore size 220 225 032 040 250 263
MB1
S 70 70 72 80 95 95 I
yv4 140 150 152 180 211 211 CP95
Other dimensions are the same as double rod standard (p.1.7-18). L
Basic CG1WBA: With Air Cushion C95
WA o.p WA C92
Mm o HL o [Gal S GA MM —
Width across / | '
s g A | CA1
'} \| ) it 4 _ | gi —
S v (7| ° @:\@ﬁ a7 Cs1
] S 2 | ——1 5 S AT =
[ !
AL \ | AL
A JKF|TA| \4TC JAIF KA |
A - 5+ stroke R H + stroke -
I _ ZZ+2stroke 00000000 B
* Refer to rubber bumper equipped type for rod boot equipped type. (mm)
Bore size (Standard stroke| Long stroke
(mm) range (mm) | range (mm) A AL B1 C D E F GA H Hi1 | J K KA
20 Up to 200 | 201 to 350 18 15.5 13 14 8 12 2 12 35 5 26 M4 Depth 7 5 6
25 Up to 300 | 301 to 400 22 19.5 17 16.5 10 14 2 12 40 6 31 M5 Depth 7.5 55 8
32 Up to 300 | 301 to 450 22 19.5 17 20 12 18 2 12 40 6 38 M5 Depth 8 5.5 10
40 Up to 300 | 301 to 800 30 27 19 26 16 25 2 13 50 8 47 M6 Depth 12 6 14
50 Up to 300 | 301 to 1200 35 32 27 32 20 30 2 14 58 11 58 M8 Depth 16 7 18
63 Up to 300 | 301 to 1200 | 35 32 27 38 20 32 2 14 58 11 72 M10 Depth 16 7 18
80 Up to 300 | 301 to 1400 40 37 32 50 25 40 3 20 71 13 89 M10 Depth 22 10 22
100 Up to 300 | 301 to 1500 | 40 37 41 60 30 50 3 20 71 16 110 M12 Depth 22 10 26
Bore size * Refer to p.1.6-19 for mounting brackets.
MM NA P S TA C= 74 WA WH Woe s+ Trunnion mounting taps with width across
(mm) flats NA are not attached for bore sizes 680
20 M8 24 M5 77 11 M5 147 16 23 30° and 100.
25 M10 X 1.25| 29 M5 77 11 M6 X 0.75 | 157 16 25 30°
32 M10 X 1.25| 35.5 | Rc(PT)1/8 79 11 M8 X 1.0 159 16 28.5 25°
40 M14X1.5| 44 Rc(PT)1/8 87 12 |M10X1.25| 187 16 33 20°
50 M18 X 1.5 55 Rc(PT)1/4 | 102 13 |M12X1.25| 218 18 40.5 20°
63 M18X1.5| 69 Rc(PT)1/4 | 102 13 M14 X1.5 | 218 18 47.5 20°
80 M22 X 1.5 80 Rc(PT)3/8 | 122 — — 264 22 60.5 20°
100 M26 X1.5| 100 | Rc(PT)1/2 | 122 — — 264 22 71 20°

O

1-7-17



Series CGTW

Basic/CG1WBN: With Rubber Bumper

_G_p;‘ , 2-RC(PT)P GA
Width MM
MM ' H1 across | | I
\ flats BY| | | /
o R / 3 T | / 9
o [ _ S —— __D g
ool J“—_l ~— = =Y b 1 al°?
M RO KK I 1 el
e = —— A |
) 1
oy *J \ TAllF m:*%%d
A kIElTA| ‘\4-TC TALF J’_t:j
) S + Stroke H + Stroke
Z7 + 2 stroke
L
'y # L
. . =t
With rod booton one side _ m [ q A l
| R0
8| ¢ f
h+¢
ZZ + ¢ + 2 stroke
With rod boot on both sides
= — 4 S I
r “E[ i l ¥ —rﬂ““ Il
sle R ez ) Bat I T
sl@ ! ! N B | I'\f‘q
| el Bl | ; & i
1 == . -
8 ¢ f f | ¢+ Stroke| 8 | l
Thie - S + Stroke h + ¢ + Stroke . LM"_
- _ ZZ +2 (¢ + Stroke 00000 ]
(mm)
Bore | Strokerange | 5 | A | By oc| D | E | F |GA| Hi | 1 J K|ka| MM |NA| P | s
(mm) (mm) ! !
20 Up to 350 18 [155| 13 |14 | 8 |12 | 2 |12 | 5 | 26 M4 Depth 7 5| 6 M8 24 | 1/8 | 77
25 Up to 400 22 [195| 17 |165]| 10 |14 | 2 | 12| 6 | 31 M5Depth75 |55 | 8 [M10X1.25| 29 | 1/8 | 77
32 Up to 450 22 (19517 |20 |12 |18 | 2 [ 12| 6 | 38 M5 Depth8 | 55| 10 [M10X1.25|355| 1/8 | 79
40 Up to 800 30 |27 |19 |26 |16 |25 | 2 | 13 | 8 | 47 M6 Depth12 | 6 | 14 | M14X1.5 | 44 | 1/8 | 87
50 Upto1200 | 35 |32 [ 27 [ 32 |20 [ 30| 2 | 14 [ 11 | 58 M8 Depth 16 7 | 18 | M18X 1.5 | 55 | 1/4 | 102
63 Upto1200 |35 |32 |27 [ 38 |20 |32 | 2 | 14| 11 | 72 | M10Depth 16 7 | 18 | M18X1.5 | 69 | 1/4 | 102
80 Upto1400 | 40 | 37 [ 32 [ 50 |25 |40 | 3 | 20 | 13 | 89 | M10Depth22 | 10 | 22 | M22X 1.5 | 80 | 3/8 | 122
100 Upto1500 | 40 | 37 | 41 [ 60 [ 30 [ 50 | 3 | 20 | 16 [110]| M12Depth22 | 10 | 26 | M26 X 1.5 | 100 | 1/2 | 122
Bore . W/o rod boot W/ rod boot on one side™ W/ rod boot on both sides™ .
(mm) U 1 H[zz]| e f h [ W[WH[W] ¢ ]zz zz Air hydro
20 11 M5 35 | 147 | 30 | 16 | 55 | 27 |(145)|(115) 167 187 Bore s |2z
25 11 | M6X0.75 | 40 | 157 | 30 | 17 | 62 | 32 |(17.5) | (115) 179 201 (mm)
32 11 M8X1.0 | 40 [ 159 | 35 | 17 | 62 | 38 |[(195) | (115 | £ | 181 203 20 70 140
40 12 | M10X1.25 | 50 | 187 | 35 | 17 | 70 | 48 |(225)| (13) % 207 227 25 70 150
50 13 | M12X1.25 | 58 | 218 | 40 | 17 | 78 | 59 | (25) | (13) | o | 238 258 32 72 [152
63 13 | M14X15 | 58 [ 218 | 40 | 18 | 78 | 72 | (25) | (13) | o | 238 258 40 80 | 180
80 — — 71 | 264 | 52 | 10 | 80 | 59 | — | — 273 282 50 95 |211
100 — — 71 |264 | 62 | 7 |80 | 71 | — | — 273 282 63 95 | 211

+ The minimum stroke for rod boot equipped style is 20mm.
+x Trunnion mounting taps with width across flats NA are not attached for bore sizes 80 and 100.

1-7-18

O
:



With Mounting Bracket

Standard: Double Acting Double Rod Series CG1 W

Axial foot/CG1WLN Foot (mm)
Bore  |Stroke range
: (mm) (mm) B [LC|LD|LH|LS|LT|LX|LZ|M |W | X |Y | Z
20 |Upto350/34| 4 | 6 |20[53| 3 |32|44| 3 [10[15]| 7 |47
| 25 |Upto400|385| 4 | 6 [22(53| 3 |36|49[35[10|15| 7 |52
:{ 32 |Upto450|45| 4 |6.6]/25(53| 3 |44|58|35[10[16]| 8 |53
40 |Upto800|545| 4 [6.6[/30|60| 3 |54 |71 | 4 |10 [165|8.5(635
zZ LS + stroke 50 |Upto1200{705] 5 | o |40|67 [4.566]86] 5 |175]22 11 ][5 ———
Iz ZZ + 2 stroke
/ 63 |Upto1200{g25| 5 | 11|45 |67 |4.5]82[106] 5 [175]|22 (13755 [CJ1
_2-@[._(_3_ N 80 |Upto1400/101| 6 |11 |55 |74 |4.5/100[125| 5 |20 [285]| 14|95 —
Knock pin position 100 |[Upto1500{121| 6 |14 |65 |74 | 6 [120[150| 7 |20 |30 |16 |95 CJP
Front flange/CG1WFN Front flange (mm) CJ2
Bore  [Stroke range —
FE'r"r (mm) (mm) B E F | FX | FD | FT CM2
_{ 20 Upto350| 40 |12 | 2 | 28 |55]| 6 —
= e =l 85
. | Lz B 4 m— ]
u| e e 40 |Upto800| 61 |25 | 2 |46 |66 8 C76
1_ 50 |Upto1200| 76 |30 | 2 |58 | 9 | 9
63 Upto1200| 92 | 32 | 2 | 70 | 11 9
80 |Upto1400[104| 40 | 3 | 82 | 11 | 11 CGi
100 |Upto1500|128| 50 | 3 [100| 14 | 14 ———
+ End boss is machined on the flange for oE. M B
Front trunnion/CG1WUN ] —
Front trunnion mm) |MB1
[ Brackel movring (mm) s"o(krﬁnrf)‘"ge B| TDes8 |TE|TF|TH|TR|TS ———
20 Upto200 | 38 80%° |10 | 55| 25 | 39 | 28 CP95
25 Upto300 [455| 102052 | 10 [55 (30|43 |33 [
32 Upto300 | 54 | 12392 | 10 | 6.6 | 35 |545]| 40 |C95
40 Upto500 [635| 1423932 | 10 | 6.6 | 40 |655] 49 ———
50 Upto600 |79 | 1638% |20 | 9 |50 | 80|60 |C92
4-0TF.0.10 63 Upto600 |96 | 1838% |20 | 11 | 60 | 98 | 74 ———
ZZ + 2 stroke oTE O (mm) CA1
Bore | o | 1y | tw | X | TY | T2 Fvma— —
(mm) rod ot | With rod boot
20 3.2 [358]| 42 | 16 | 28 [47.6] 46 66 +¢ CS1
25 3.2 (398 42 | 20 | 28 | 53 51 73 +¢
32 4.5 (49.4| 48 | 22 | 28 |67.7| 51 73 +¢
40 45 [(584| 56 | 30 | 30 [78.7| 62 82 +¢
50 6 |72.4| 64 | 36 | 36 |98.6| 71 91 +¢
63 8 [90.4| 74 | 46 | 46 [1192] 71 91 +¢
+ Consists of pins, flat washer and hexagon socket head cap bolt.
Mounting Bracket Part No.
Mounting Bore size (mm)
bracket 20 25 32 40 50 63 80 100
Axial foot™ CG-L020{CG-L025|CG-L032|CG-L040|CG-L050|CG-L063|CG-L080|CG-L100
Flange CG-F020|CG-F025|CG-F032|CG-F040|CG-F050|CG-F063|CG-F080|CG-F100
Trunnion pin CG-T020|CG-T025|CG-T032|CG-T040/CG-T050/CG-T063 — —
; CG-020 | CG-025 | CG-032 | CG-040 | CG-050 | CG-063 _ _
Pivotbracket | “osa | 24A | -24A | 24 | 24A | -24A
+ Order two foot brackets per a cylinder.
#x Mounting bolts are attached for the foot and the flange styles.
Auto Switch Mounting Bracket Part No.
. A Note) A set of following stainless steel mounting screws is attached.
Auto switch Bore size (mm) Q (A switch mounting band is not attached. Please order the
model 20 25 32 40 50 63 80 100 band separately.)
. BBA3: D-B5/B6/G5 types
D-C7,C8 BMA2 | BMA2 | BMA2 | BMA2 | BMA2 | BMA2 | _ BBA4: D-C7/C8/H7 types
D-H7 -020 -025 -032 -040 -050 -063 - "D-G5BAL" and "D-H7BAL"switches are set on the cylinder with
D-B5. B6 the screws above when shipped.
_— BA-01 BA-02 | BA-32 | BA-04 | BA-05 | BA-06 | BA-08 | BA-10 When a switch only is shipped, “BBA3” or "BBA4" screws are
D-G5, K5 attached.

'\

1-7-19



Standard: Single Acting Spring Return/Extend

Series CG1

020, 925, 932, 940

How to Order

25

100

I

|

Vi auosvicn JERIey

—r
|z =2

25

100

B53

With auto switchT
(magnet)
Mounting
B Basic U Front trunnion
L Axial foot T Rear trunnion
F Front flange D Clevis
G Rear flange

* Mounting brackets are included, not mounted.

JAuto switch

Without auto switch
(Built-in magnet)

= Refer to the table below for
selecting applicable auto switches.

*Number of
auto switches

— 2

S 1

n

O

SvC

Cushion ® .
N [ Rubber bumper S | Single acting/Spring return
l b Cylinder stroke (mm) T | Single acting/Spring extend
_BM Refer to p.1.7-21 for Standard
20 | 20mm Stroke Table.
25 | 25mm
32 32mm
40 | 40mm
Applicable Auto Switches/Refer to p.5.3-2 for further information on auto switch.
5 Wiri Load voltage Lead wire (m)*
. ’ ical| ® Iring . Applicable
Style | Special function |Electrical| g Auto switch model N
entry || (output) D A 0.5 | 3| 5 [None|  |oaq
8 c c O |O|@|N
3 wire
(NPN) 5V — C76 — ® & —|—| IC | —
6 —| — — — B53 ® O ® —| — | PC
rommet |Yes
5 o 200V — B54 ® 0 0o —
E or less — B64 ® O — | —| —
o ) 12v 100V C73 - o O 0o —
° 2 wire Relay
3 [No| 24V |5V, 12V[100V or less C80 — ® ® —|—|IC |p¢
& Connector |Yes v | — c73C — o o0oj0 —
No 5V, 12V|24Vorless)  C80C — ® 00 0 C
Diagnostic indication (2 colour)| Grommet | Yes - — — B59W ® O — | —| —
2 wire 12V — K59 ® 0 O —| —
3 wire (NPN) H7A1 G59 ® 0O —
Grommet - 5V, 12V IC
— 3 wire (PNP) H7A2 G5P ® 0 O —
= ) H7B — ® 0 O|—
3} 2 wire 12v —
-‘; Connector H7C — [ K AN BN J
@ 3 wire (NPN) H7NW G59W ® 0 O|—
o | P 5V,12v| __ IC | Relay
8 Diagnostic indication VeS| 3 wire (PNP) 24V H7PW G5PW ® 0 0O — PLC
7] (2 colour)
o ) H7BW K59W ® 0 O|—
= 2 wire 12V —
& [Water resistant (2 colour)| Grommet H7BA G5BA — @O |—
With timer 3 wire (NPN) — G5NT — | @|O|—
5V, 12V IC
Diagnostic output (2 colour) 4 wire H7NF G59F ® O O —
Latch with diagnostic output NPN - _ N
2 oolou] (NPN) H7LF ® 0O
* Lead wire length 0.5m-----— e.9.) C73C  5m--e------ Z e.g.) C73Cz
3me-eeeeees L C73CL None---:N C73CN
= Solid state switches marked with "O" are manufactured upon receipt of order.
1-7-20



Standard: Single Acting Spring Return/Extend Series CG 1

Specifications
3 Action Single acting/Spring return Single acting/Spring extend
i - /3 Bore size (mm) 20, 25, 32, 40

W _ - Lubrication Non-lube

Fluid Air

Proof pressure 1.5MPa

Max. operating pressure 1.0MPa

Min. operating pressure 0.18MPa 0.23MPa

. Without auto switch: —10°C to +70°C (No freezin
Spring return Ambient and fluid temperature - - ( . 9
With auto switch: —10°C to +60°C (No freezing)
3 Piston speed 50 to 1000mm/s
’ i —J Stroke tolerance Up to 200**mm
aE— = - Thread tolerance JIS class 2
%-"_, _______F-“ - Cushion Rubber bumper
p— . = - = ,_/J Basic, Axial foot , Front flange,
el ¥ ,..--""”'Hr . Rear flange, Front trunnion,
: Y Mounting ) ;
— Rear trunnion, Clevis
Spring extend (Used for changing the port location by 90° degrees.)
Accessories
Mounting Basic | Axial Front Rear Front Rear | clevis
foot flange | flange | trunnion | trunnion
Rod end nut o o o [ ([ [ ([
Standard —
Clevis pin — — — — — — o
JIS symbol Single knuckle joint [ [ (]
Spring return Spring extend .| Double knuckle joint"
Option (with pins) [ [ [ J
IA'A V\ Pivot bracket — — — — o [ o
[ * Pins and snap rings for double knuckle joint are included, not mounted.
Stroke
order .
Made to Order Bore size Standard stroke (mm) ()
(mm)
Refer to p.5.4-1 for made to order products 20 25, 50, 75,100, 125
of series CG1. 25, 32, 40 25, 50, 75, 100, 125, 150, 200
Note 1) Other intermediate strokes can be manufactured
upon receipt of order. Spacers are not used for
the intermediate strokes.
Mounting Bracket Part No. Auto Switch Mounting Bracket Part No.
Mounting Bore size (mm) Auto switch Bore size (mm)
bracket 20 25 32 40 model 20 25 32 40
Axial foot™ CG-L020 CG-L025 CG-L032 CG-L040 D-C7-
xa1 100 C7.c8 BMA2-020 | BMA2-025 | BMA2-032 | BMA2-040
Flange CG-F020 CG-F025 CG-F032 CG-F040 D-H7
T i i CG-T020 CG-T025 CG-T032 CG-T040 D-B5-B6
o P BA-01 BA-02 BA-32 BA-04
Clevis CG-D020 CG-D025 CG-D032 CG-D040 D-G5-K5
Pivot bracket CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A Note) A set of following stainless steel mounting screws is attached.
(A switch mounting band is not attached. Please order the band separately.)
* Order two foot brackets per a cylinder. BBAS: D-B5/B6/G5 types

+x Mounting bolts are attached for foot and flange styles, and clevis pins, snap rings

BBA4: D-C7/C8/H7 types

and mounting bolts for the clevis style. ~"D-G5BAL" and "D-H7BAL"switches are set on the cylinder with the screws above

o em mm mm Em o Em Em o EE EE N EE EE RN Em Em Em o Em Em o

: Be sure to read before handling.

1 Refer to p.0-39 to 0-43 for Safety Instructions
1 and common precautions.

I Refer to p.1.7-6 for precautions for series CG1.1

e ]

ZS\NC

-
1
1
1
1

when shipped.

A P reca u t i o n s When a switch only is shipped, “BBA3” or "BBA4" screws are attached.

1-7-21

e _




Series CG1

Welght (kg)
Spring return Spring extend
Bore size (mm) 20 25 32 40 Bore size (mm) 20 25 32 40
25st 0.17 0.27 0.40 0.63 25st 0.16 0.25 0.38 0.59
50st 0.19 0.30 0.45 0.71 50st 0.18 0.28 0.43 0.67
] 75st 0.26 0.40 0.58 0.91 ) 75st 0.24 0.37 0.54 0.83
Basic 100st 028 | 043 | 062 | 099 Basic 100st 026 | 0.40 | 058 | 0.91
weight weight
125st 0.35 0.53 0.76 1.20 125st 0.32 0.48 0.69 1.08
150st — 0.56 0.81 1.28 150st — 0.50 0.72 1.12
200st o 0.69 0.98 1.56 200st — 0.63 0.89 1.40
Axial foot 0.11 0.13 0.16 0.22 Axial foot 0.11 0.13 0.16 0.22
Mounting | Flange 0.08 | 0.10 | 0.14 | 020 Mounting | Flange 0.08 | 0.10 | 0.14 | 020
bracket bracket
weight Trunnion 0.01 0.02 0.03 0.05 weight Trunnion 0.01 0.02 0.03 0.05
Clevis 0.05 0.08 0.15 0.23 Clevis 0.05 0.08 0.15 0.23
Pivot bracket 0.08 0.09 0.17 0.25 Pivot bracket 0.08 0.09 0.17 0.25
Accessory | Single knuckle joint 0.05 0.09 0.09 0.10 Accessory | Single knuckle joint 0.05 0.09 0.09 0.10
Double knuckle joint (with pins) | 0.05 0.09 0.09 0.13 Double knuckle joint (with pins) | 0.05 0.09 0.09 0.13
Calculation example: CG1LN20-100S (Foot, 820, 100 stroke) Calculation example: CG1LN20-100T (Foot, 220, 100 stroke)
* Basic weight------ 0.28kg (920)  * Mounting bracket weight:-----0.11kg (Foot) * Basic weight------0.26kg (220) * Mounting bracket weight------0.11kg (Foot)
0.28+0.11=0.39%kg 0.28+0.11=0.39%kg
Construction
Single acting/Spring return
1|0‘ (4<
|
|\
A ]
Single acting/Spring extend
Component Parts
No. Description Material Note Replacement Parts: Single acting/Spring return
@ | Rod cover Aluminum alloy | White hard anodized . ) Bore size (mm)/Part No.
- - - No.| Description |Material
@ | Tube cover Aluminum alloy | White hard anodized 20 25 32 40
©) Piston Aluminum alloy Chromated Piston seal | NBR| PPD-20 |PPD-25-19| PPD-32 | PPD-40
@ | Piston rod* Carbon steel Hard chrome plated Single acting/Spring extend (@ is the same as the spring return style.)
® Bushing Ol impregnated sintered alloy| @40 or larger: Lead bronze cast — ' Bore size (mm)/Part No.
® Bumper A Urethane No.| Description |Material 20 25 32 20
@ | BumperB Urethane @ | Rodseal |NBR| PDU-8Z | PDU-10Z | PDU-12LZ | PDU-16Z
Snap fing Stainless steel CM-020- | CM-025- | CM-032- | CM-040-
©® | Wearring Resin Tube gasket |NBR | 16 103 | 16-124 | 16-126 | 16-127
Rod end nut Rolled steel Nickel plated
() | Piston gasket NBR
(2 | Return spring Steel wire Zinc chromated
(3 | Spring guide Aluminum alloy Chromated
() Spring seat Aluminum alloy Chromated
(5 | Element Sintered metal BC
Snap ring Steel wire

Note) A rubber magnet is equipped on the piston of the cylinder with auto switch.
= The material is stainless steel on auto switch equipped styles 820 and 225.

1-7-22

O



Standard: Single Acting Spring Return/Extend Series CG 1

Auto Switch Mounting Position and Mounting Height

D-G5, D-K5, D-G5C0W, D-G5B

AL

D-C7,D-C8 50 switcn D-K59W, D-G59F, D-G5NTL
8.5 12 Auto switch
T v
| - '
] = o k: = 51
= lB{l : : HOl
(] B —
D-H7, D-H7CW D-C73C, D-CBOC ==
D-H7CF, D-H7BAL Auto switch
Auto switch 85 : =Hs CJiP
SHEN CJ2
Chio & _ —
A Lse7l Bl cM2
(36) (D4 C85
D-B5, D-B6, D-B59W D-H7C C76
12 Auto switch 8.5 Auto switch <Hs
= 82 - e
i - I S e
e : W, MB
- © = - © =
l il [ |
33 £ B LA 382 LB MB1
CP95
Single acting/Spring return (mm) Single acting/Spring extend mm)_ [co5
Auto switch | Bore A B Hs Auto switch | Bore A B Hs L
model | size | 25 | 50 | 75 | 100 | 125 | 150 | 200 |Al strokes model | size |Alstokes| 25 | 50 | 75 | 100 | 125 | 150 | 200 Cc92
D-C7 20 |55|55|80]|80[105| — | — | 205 |24.5(27) D-C7 20 | 30 [455|455|705(705|955| — | — [245(27) L———
D-C8 25 |55 |55 |80 |80 |105|130(130| 20.5 |27 (29.5) D-C8 25 | 30 |455|455|705|70.5/955|15|1205 |27 (295) | A4
D-C73C 32 |56 |56 |81|81[106|131|131| 21.5 |30.5(33) D-C73C 32 | 31 |465|465|71.571.5/96.5) 1215|1215 [305(33) L
D-C80C 40 |60.5|60.5(85.5(85.5(1105| 135 |13%5| 24 |35 (37.5) D-C80C 40 | 355 |49 |49 | 74|74 | 99 [124|124]35(375) |G
20 |54 |54 |79|79|104] — | — | 19.5 |245(275) 20 | 29 [445(445|69.5(69.5(945| — | — [p45(275) L——
D-H70] 25 |54 |54 79|79 |104 (129 |129| 19.5 | 27 (30) D-H70 25 | 29 [445|445|69.5(69.594.5 1195|1195 | 27 (30)
D-H7C 32 |55 |55|80|80|105|130|130| 20.5 |305(335) D-H7C 32 | 30 [455|45.5|70.5/70.5(95.5]1205 | 1205 [30.5 (33.5)
40 |59.5|59.5(84.5(84.5(1095|1345 |1345| 23 | 35(38) 40 | 345 (48 |48 | 73| 73| 98 |123]123| 35(38)
B-Eg 20 (49|49 |74 |74|99 | — | — | 15 275 B-Bg 20 24 |40 |40 |65|65|90 | — |— | 275
D-G50W | 25 |49 |49 |74 | 74|99 [124|124| 15 30 D-G50W | 25 | 24 |40 |40 |65| 65|90 115|115 30
D-KS9W | 32 |50 |50 | 75| 75 |100[125|125] 155 | 335 DKW | 32 | 25 [40.5/405)655(65.5(90.5 1155|1155 | 33.5
D-G5BA 40 |54.5|54.5|79.5|79.5(1045| 1295 | 1205 | 18 38 D-G5BA 40 | 295 |43 |43 |68 |68 |93|118(118| 38
e 20 |50.5|50.5(75.575.5[1005| — | — | 16 | 27.5 D-G5 20 | 255 |41 |41 |66|66|91|—|— | 275
D-K5 25 |50.5|50.5|75.5|75.5(1005| 125 | 155 | 16 30 D-K5 25 | 255 |41 |41 |66 | 66|91 |116[116| 30
D-GSNT 32 |51.5(51.5|76.5|76.5(1015|1265 [1265| 17 | 335 D-GSNT 32 | 265 |42 |42 |67 | 67 | 92 |117|117| 335
40 |56 |56 |81 |81|106|131|131| 195 | 38 40 | 31 [445|445|69.569.5/94.5|1195|1195| 38
20 |52 |52 |77 |77 |102| — | — | 175 | 275 20 | 27 |425|425|675|675(925| — | — | 275
2 2 | 52 | 77 | 77 |102 | 127 [127 | 17. 2 27 |42.5|42.5|67.5/67.5|92.5| 1175 | 117,
D-B5OW 5 |52 |5 0 5| 30 D-B5OW 5 5|42.5|67.567.5|92.5| 1175 | 1175 | 30
32 |53|53|78|78[103|128|128| 185 | 335 32 | 28 [435|435|68.5/68.5/93.5|1185|1185| 33.5
40 |57.5|57.5(82.5(82.5(1075| 135 | 1325 | 21 38 40 | 325 |46 |46 | 71| 71|96 121|121 38
DHToW | e erel ettt 1s [z PO [T Tare [as [as [es s o rals] 27
D-H7CF 32 53.5 53.5 78-5 78.5 103.5 128.5 126.5 19 | 305 D-H7CF 32 28-5 44 | 44 | 69 | 69 | 94 [119[119| 305
D-H7BA R e e e e : D-H7BA : :
40 |58 |58 |83 |83[108[133(133| 215 | 35 40 | 33 [465(46.5|71.571.5/96.5| 1215 |1215| 35
( ): With connector ( ): With connector
1-7-23
ZSNC



Series CG1

Basic

Spring return/CG1BN

O

GA Element installation RC(PT)P GB
Width /
M, H1 across ’- / \
\ flats B1 \
\ / \
\ / ~
e - A S
e RO ——
1=] & llb‘—J =11
AL
LA IKF|TA| \4TC 78]
L H S + Stroke . F
| ZZ + Stroke
Spring extend/CG1BN
GA RC(PT)P GB
MM Hi  Width Element installation
across
\ *‘ flats B1 |
/
\ / Wl i 12
e s &
o AT - ) - - -
Tl ) Y, S
[=] T ¥ N
\ '
AL
A K Fll TA \:I—TC B
H + Stroke S + Stroke hj_’i
~ ZZ + 2 Stroke |
Bore |Swokerange| o | AL | B1 | Cc | D | E| F |GA|GB| H | HI| I J K | ka MM NA | P
(mm) | (mm)
20 Upto125| 18 155 | 13 14 8 12 2 12 10 35 5 26 M4 Depth 7 5 6 M8 24 1/8
25 Upto200| 22 | 195 | 17 | 165 | 10 14 2 12 10 40 6 31 M5 Depth 7.5 5.5 8 M10X 1.25 | 29 1/8
32 Upto200| 22 195 | 17 20 12 18 2 12 10 40 6 38 M5 Depth 8 5.5 10 | M1I0X1.25 | 355 | 1/8
40 Up to 200| 30 27 19 26 16 25 2 13 10 50 8 47 M6 Depth 12 6 14 M14X1.5 | 44 1/8
Bore 1 to 50st 51to 100st | 101 to 125st | 126 to 200st
(mm) T TB e s |zz| s |zz| s |zz]| s | zz
20 11 11 M5 94 131 | 119 | 156 | 144 | 181 — —
25 11 11 M6 X 0.75 94 136 | 119 | 161 144 | 186 | 169 | 211
32 11 10 M8 X 1.0 96 138 | 121 | 163 | 146 | 188 | 171 | 213
40 12 10 | M10X1.25 | 103 | 155 | 128 | 180 | 153 | 205 | 178 | 230
Note) The drawing below shows the single acting/spring return style.
Wlth Mounting Bracket The rod is retracted in case of the spring extend style
. Axial foot
Axial foot/CG1LN a 100 (mm)
Bore [Stokerangel g | py | ¢ | LD | LH | LT | X | Lz | W Y | z
mm) | (mm)
20 |Upto125| 34 4 6 20| 3 (32|44 |10 |15 | 7 | 47
25 |[Upto200|385(35| 4 | 6 | 22| 3 |36 |49 |10 | 15| 7 | B2
32 |Upto200| 45 35| 4 |66 | 25| 3 |44 |58 | 10| 16 | 8 | 53
1 40 |[Upto200|545| 4 4 66|30 | 3 |54 |71 | 10 |165]| 85 [635
s
=4 Bore 1 to 50st | 51to 100st | 101 to 125st | 126 to 200st
== (mm) LS |ZZ | LS |Z2Z|LS |ZZ |LS | ZZ
W 20 70 | 135| 95 | 160|120 (185 | — | —
z X 25 70 [1405| 95 |1655| 120 1905 | 145 [ 2155
- - 32 70 [1425| 95 |1675| 120 |1925| 145 | 2175
40 76 | 160 | 101 | 185 | 126 | 210 | 151 | 235
1-7-24



Standard: Single Acting Spring Return/Extend Series CG1

With Mounting Bracket

Front flange/CG1FN (mm)
Bore size |Stroke range
F__FT () ) B | E | F |FX|FD|FT
4-oFD 20 Upto 125 40 | 12 2 28 | 55 6
9 u 25 Upto200 | 44 | 14 2 @ | 55 | 7
o5 L JE : 32 Up to 200 53 | 18 2 38 | 66 | 7
w \ﬂl =i . = o 40 Upto200 | 61 | 25 | 2 | 46 | 66 | 8
L | * End boss is machined on the flange for oE.
OFX20.15) Front flange (mm) 7CJ p
0B Bore size 2z
(mm) |1 to 50st |51 to 100st [101 to 125st|126 to 200st —
20 131 156 181 — CJ2
25 136 161 186 211 L
Rear flange/CG1GN 5 - pre - P cM2
4-0FD 40 155 180 205 230
2 Rear flange (mm) C85
i E 3
E@EI Bore size zz
L - — (mm) 1 to 50st |51 to 100st|101 to 125st|126 to 200st C76
20 137 162 187 — e
25 143 168 193 218
32 145 170 195 220
OFX=0.15 1l E
OB ZZ + stroke - 40 163 188 213 238
- ' - MB
mm) MBT
Front trunnion/CG1UN B‘z’rﬁnﬁ')ze S""(kmenf)‘”ge B | TDe8 | TE|TF|TH|TR|TS|TT|TV|TW|TX|TY|TZ |CP95
Bracket 20 |Upto125|38|83022| 10 |55| 25|39 |28 |32(358/ 42| 16|28 (476 [———
;g—-i mouning * 55 [Upto200 |455]10-9%5| 10 |55 30 | 43 | 33 |3.2|398| 42| 20| 28 | 53 |C9H
' - 32 |Upto200 | 54 [123922| 10 | 6.6| 35 |545| 40 | 4.5|49.4| 48| 22 | 28 |67.7
: 40 |Upto200 |635[14=3.3%5] 10 | 6.6| 40 |655| 49 | 4.5|58.4] 56 | 30 | 30 |787 C92
J'_\' _' 1 « Consists of pins, flat washer and hexagon socket head cap bolt. L
_‘_-[l Front trunnion (mm) CA1
Bore size 7 Y74 |~nt
. (mm) 1 to 50st | 51 to 100st|101 to 1255t|126 to 200st PN
20 46 | 131 156 181 — CS1
77 + Stroke 25 51 | 136 161 186 211
32 51 | 138 163 188 213
* Clevis pins and snap rings are attached. 40 62 155 180 205 230
Rear trunnion/CG1TN Rear trunnion (mm)
Bracket Bore size |1 t0 50st] 51 to 100st [ 101 to 125st] 126 to 200st
TR mounting (mm) Z 22|72 |2z2|2Z |2Z2|Z |Z2Z
S e —— L 20 [118 [130 [ 143[164 [168 [189 | — | —
P_%= i 25  |123 |144 | 148|169 |173 |194 |198 | 219
i@r.— 7SR [ =l 32 [126 |150 | 151 [175 [176 | 200 | 201 | 225
i N i 1m‘ _ [ ! 40  [143 |171 | 168|196 |193 | 221 | 218 | 246
- |
&4, |
H il Clevi
| evis mm
' S - T 1| Bore ize s -~
TY ore size | Stroke range
__%__ 4_§-T|—EE+O.10 S+ ok |_ W (mm) (mm) B |CD|CZ| L |RR|TE|TF| H |TT | TV
L ~21E7, ZZ + stroke =] 20 |Upto125 |38 | 8 [20 ] 14| 11|10 |55] 25 |32 [358

25 Upto200 |455| 10 | 383 | 16 | 13 | 10 | 55 | 30 | 3.2 | 39.8
32 Upto200 | 54 | 12 | 40 | 20 | 15 | 10 | 6.6 | 35 | 4.5 |49.4
40 Upto200 |635| 14 | 49 | 22 | 18 | 10 | 6.6 | 40 | 45 |58.4

2CD External H1o Bore size wlm |1y |1z 1 to 50st [51 to 100st|10 1to 125st126 to 200st
Internalda (mm) Z|ZZ |z |zz|Z |ZZ|Z |ZZ
AR 20 42 | 16 | 28 |43.4|143 | 164 [168 [ 189 [ 193 | 214 | — | —

25 42 | 20 | 28 | 48 | 150 [171 [175 | 196 | 200 | 221 | 225 | 246

32 48 | 22 | 28 |59.4|156 | 180 |181 | 205 | 206 | 230 | 231 | 255

40 56 | 30 | 30 [71.4|175 | 200 | 200 | 228 | 225 | 253 | 250 | 278

+ Refer to p.1.7-11 for dimensions of the pivot bracket.

Z + stroke
£Z + stroke

(The above shows the case port location is changed by 90 degrees.)

1-7-25



Non-rotating Rod: Double Acting

Series CG1K

020, 925, 932, 940, 650, 663

How to Order

CG1K
CDG1K

25

100

L

I

I

25

100—B53

. . T I *Number of
With auto switch auto switches
(magnet) Auto switch — 2
. ) Without auto switch S 1
Double acting Non-rotating rod (Built-in magnet) Bl -
= Refer to the table below for
. selecting applicable auto switches.
Mounting
B _| Basic ¢Stroke (mm)
Bl Avdal foot Refer to p.1.7-27 for Standard
efer to p.1.7-27 for Standar
F_| Front flange m Stroke szle.
G | Rearflange
U | Front trunnion
T | Rear trunnion
D | Clevis
* Mounting brackets are Applicable Auto Switches/refer to p.5.3-2 for further information on auto switch.
included, not mounted. E Load voltage Lead wire (m)* .
Style | Special function |Electrical| §|  Wiring Auto switch model 95 | 2 | 5 g AEpiEe
. t . 1
Cushion * oy |g| ©uteun | DC e O |O|a|n]
N Rubber bumper 3 wire —
J mp wnewy || v | — c76 — oo —|—|c
Air cushion Yes
(240 to 863 only) - - B53 ® |06 | — pcC
5 Grommet| | 1oy | 200V — B54 00 —
. = . No orless — B64 ® 0 - —| —
L = —
Z_OBOzi g sl 5 wire | 24v 100V C73 — o0 0 —
Bl cumm 8 No 5v, 12v[10ovoress|  C80 — ® @ |—[ic |Re
25| 25mm & PLC
= = o Yes 12v — C73C — ® 00 0o —
32| 32mm NG 5V, 12V[24vorless|  c80C — e (o/e0]0] C
ﬂw Diagnostic indication (2 colour) | Grommet [ Yes i —_— — B59W o0 —|—|—
50| 50mm swie PN | H7A1 G59 IS
63| 63mm L Grommet| |3 wire (PNP) ’ H7A2 G5P ® 0 O|—
H7B K59 ® |0 O|—
2 wi 12V —
f: Connector wre H7C — ® 00
= 3 wire (NPN) H7ZNW G59W ® |0 O|—
;’_, Diagnostic indication Ves|3 wire (PNP)| o4/ 5v.12v . H7PW G5PW ® (00| — 1c Relay
s (2 colour) & PLC
7] 2 wire 12V H7BW K59W ® |0 O|— _
% Water resistant (2 colour)| Grommet H7BA G5BA — | @O |—
& With timer 3 wire (NPN) — G5NT | — (@] O | —
5V, 12V IC
Diagnostic output (2 colour) 4 wire H7NF G59F ® (0| O —
Latch with diagnostic output NPN J— N — | —
(2 colour) (NPN) H7LF ® 0 O
«Lead wire length 0.5m----- - eg)C73C  5meeeeeee V4 e.g.) C73CzZ
3meeeeeees L C73CL None----:N C73CN
«Solid state switches marked with "O" are manufactured upon receipt of order.
Mounting Bracket Part No. Auto Switch Mounting Bracket Part No.
Mounting Bore size (mm) Auto switch Bore size (mm)
bracket 20 25 32 40 50 63 model 20 25 32 40 50 63
Axial foot* CG-L020 | CG-L025 | CG-L032 | CG-L040 | CG-L050 | CG-L063 D-C7-C8
BMA2-020|BMA2-025 |BMA2-032 |BMA2-040| BMA2-050| BMA2-063
Flange CG-F020 | CG-F025 | CG-F032 | CG-F040 | CG-F050 | CG-F063 D-H7
Trunnion pin |CG-T020|CG-T025|CG-T032|CG-T040 | CG-T050| CG-T063 D-B5-B6
— BA-01 BA-02 BA-32 BA-04 | BA-05 BA-06
Clevis™* CG-D020|CG-D025|CG-D032|CG-D040 |CG-D050|CG-D063 D-G5-K5
Pivot bracket | CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A | CG-050-24A | CG-063-24A Note) A set of following stainless steel mounting screws is attached.

£

1-7-26

= Order two foot brackets per a cylinder.
=+ Mounting bolts are attached for foot and flange styles, and clevis pins,
snap rings and mounting bolts for the clevis style.

O

(A switch mounting band is not attached. Please order the band separately.)
BBA3: D-B5/B6/G5 types

BBA4: D-C7/C8/H7 types
-"D-G5BAL" and "D-H7BAL"switches are set on the cylinder with the screws above

when shipped.

When a switch only is shipped, “BBA3” or "BBA4" screws are attached.

SvC



Non-rotating Rod: Double Acting Series CG1K

High non-rotating accuracy Specifications
220, 925 ————— +1° Bore size (mm) 20 ‘ 25 ‘ 32 ‘ 40 ‘ 50 ‘ 63
032 ———— +0.8° - - -
540 to 863 +05° Action Double acting/Single rod
. . . Lubrication Non-lube
High speed operation/Long life , _
Piston speed is between 50 and 500mm/s Fluid Air
and long life is expected. Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
Can operate without lubrication. Min. operating pressure 0.05MPa
The same installation dimensions ) ) Without auto switch: —10°C to +70°C (No freezing)
h dard lind Ambient and fluid temperature - - -
as the standard cylinder. With auto switch: —10°C to +60°C (No freezing)
Auto switches can also be Piston speed 50 to 500mm/s
mounted. Thread tolerance JIS class 2
It can be ihstalled with auto sw.it.ches to simplify Stroke tolerance Up to 600 *5* mm
the detection of the stroke position of the cylinder. Cushion Rubber bumper, Air cushion (240 to 063 only)
Rod non-rotating accuracy +1° ‘ +0.8° +0.5°
Basic, Axial foot, Front flange, Rear flange, Front trunnion,
Mounting Rear trunnion, Clevis
(Used for changing the port location by 90° degrees.)
Accessories
w : Mounti Basi Axial Front Rear Front Rear Clevi
ounting asic foot flange | flange | trunnion | trunnion evis
- B Rod end nut (] [ ] [ J [ ] (] [ ] [ ]
) Standard . °
ﬁi"' . ¢ Clevis pin — — — — — —
‘ - R Single knuckle joint ([ J ([ J [ J [ J ([ J [ J o
1 %t’ Option unblg knuckle joint* ° ® ® Py ® ® ®
(with pins)
Pivot bracket — — — — ([ J o [ J
= Pins and snap rings for double knuckle joint are attached, not mounted.
JIS symbol
Stroke
_éi Bore size (mm) Standard stroke (1) (mm) Long stroke (mm)
]_ ' 20 25, 50, 75, 100, 125, 150, 200 —
25 —
32 _
- 20 25, 50, 75, 100, 125, 150, 200, 250, 300 301 10 500
orde to
-wlade Made to Order
50/63 301 to 600
Note 1) Other intermediate strokes can be manufactured upon receipt of order. Spacers are not used for
Refer to p54'1 fOI’ made to Q the intermediate strokes.
order pI'OdUCtS of SerieS CG1 K. Note 2) The maximum limit is 1500 stroke, but the products that exceed the standard or the long stroke
limit are not guaranteed.
With auto switch
Auto switches can be mounted. Mounting position/
height is the same as the double acting/single
rod style. Refer to p.1.7-13.
1-7-27

O
:

e _




Series CG1K

Copper Free

Weight (kg)
Bore size (mm) 20 | 25 | 32 | 40 | 50 | 63
- Mountin Bore size Stroke
= Basic 0.10{0.17(0.26 | 0.41 | 0.77 | 1.07 20 CG1K’ 9 ‘ N’ H
% Axial foot 0.21]0.30|0.42|0.63|1.25|1.79
= Flange 0.18|0.27|0.40 | 061 1.11] 1.57 Copper free _ _ _
Ca’ - This cylinder eliminates any influences of copper ions or fluororesins on
© Trunnion 0.11/0.19]0.29|0.46 | 0.91 | 1.21 colour CRTs. Copper materials have been nickel plated or replaced with
@ Clevis 0.15/0.25|041/064 117 [1.75 non-copper materials to prevent the generation of copper ions.
Pivot bracket 0.080.09|0.17 [ 0.25 | 0.44 | 0.80
Single knuckle joint 0.05{0.09|0.09|0.10 | 0.22 | 0.22 Speciﬁcations
Double knuckle joint (with pins)| 0.05 | 0.09 | 0.09 | 0.13 | 0.26 | 0.26 Bore size (mm) 920, 825, 832, 940, 50, 263
Additional weight by each 50 stroke| 0.05 | 0.07 | 0.09 | 0.15 | 0.22 | 0.26 Action Double acting
Additional weight by air cushion| — | — | — ]0.02|0.03|0.03 Fluid Air
Additional weight by long stroke| — | — | — |0.03]0.06|0.10 Max. operating pressure 1.0MPa
Calculation example: « Basic weight.----..... 0.21 (Foot, 220) Min. operating pressure 0.05MPa
CGIKLN20-100 « Additional weight:-----0.05/50 stroke Piston speed 50 to 500mm/s
(Foot, 820, 100 stroke) + Cylinder stroke---.... 100 stroke Basic, Axial foot, Front flange, Rear flange,
0.21+0.05 X 100/50=0.31kg Mountin Front trunnion, Rear trunnion, Clevis
9 (Used for changing the port location by 90°
degrees.)

Construction

With air cushion

Component Parts

@B 109
' | |

Long stroke

(8124319

enanana2 e
.

Long stroke

No. | Description Material Note No. | Description Material Note
(D | Rod cover Aluminum alloy White hard anodized (9 | Seal retainer Rolled steel | Nickel plated (Except for long stroke)
(@ | Tube cover Aluminum alloy White hard anodized Cushion valve Rolled steel Electroless nickel plated
(3 | Piston Aluminum alloy | Chromated, Hard anodized (in case of air cushion) @D | valve retainer Rolled steel Electroless nickel plated
@ | Piston rod* Carbon steel Hard chrome plated (2 | Lock nut Carbon steel Nickel plated
® Non-rotating guide | Oilimpregnated sintered alloy @3 | Cushion seal NBR
® | Bumper Urethane Cushion seal holder | Aluminum alloy
@ | Wear ring Resin @ | Head cover Aluminum alloy White hard anodized
® | Rod end nut Rolled steel Nickel plated Cylinder tube Aluminum alloy Hard anodized
Replacement Parts/With rubber bumper
: Note) A rubber magnet is
No. Description Material Bore size (mm)/Part No. equipped on the piston of the
220 025 932 240 250 063 cylinder with auto switch.
@ Rod seal NBR SS-9X8k2Q | SS11X10k2 | SS-12 SS-16S $S-208 $S-208 ¢ Z:eﬂg‘gtgfé'; stainless steel
Piston seal NBR PPD-20 PPD-25-19 PPD-32 PPD-40 PPD-50 PPD-63 '
() Tube gasket NBR CM-020-16-123 | CM-025-16-124 | CM-032-16-126 | CM-040-16-127 | CM-050-16-128 | CM-063-16-129
With air cushion (Parts @ to (9 are the same as rubber bumper style.)
) Valve seal NBR —_— —_— — 00"2"2 22X | Oring 5.5 X 23.5 X o1
@ Valve retaining gasket NBR — —_— — 01iig 964X 10 ring 67.4 X 05.8 X 20.8
1-7-28

'\



Basic

Non-rotating Rod: Double Acting Series CG1K

With rubber bumper/CG1KBN

e _

220 to 063
GA 2-Rec(PT)P GB
=
MM H1  Width |
dcross
\ flats B1
\ / ',
\ .’r !l ] ” l
3 \ . E
D‘?TD" — _ [
w| sy
&'I. =
| I"\I L
AL _| \
A FIlTA| \ 4-TC
H S + stroke
ZZ + stroke
With air cushion/CG1KBA
040 to 063
MM WA 2-P wB 8-J
Widh 1/ IGar] Ve ey
ACTOSS —wer—=- /AL /
flats B1 . 2
\|| / o3
\ g " ! ! w
8§ L/ sl G 5
Ot? DI - T — : B L @ =
R Essi= 20 1
I \
AL -
A \
- “|
 FllTAl \LaTC TB|| F
H S + stroke
ZZ + stroke
Bore |Strokerange) \ |\ 1 | 6 p|E|F|cA| GB | H [Hi] 1 J KAl MM [NA|P| s |TA| TB | TC 7z
(mm) (mm) i U
20 |Upto200]18[155/13|14|92[12| 2 [12] 10 |35| 5 | 26| M4Depth7 | 8 M8 |24|1/8] 69 |11 11 M5 106
25 |Upto300|22 195171651114 | 2 |[12| 10 |40| 6 |31| M5Depth75 |10 |M10X1.25|29(1/8] 69 |11| 11 |M6X0.75| 111
32 |Upto300|22[195/17|20|12]18| 2 |12| 10 |40| 6 |38| M5Depth8 |10 |M10X1.25|3551/8] 71 |11| 10 |M8X1.0| 113
40 |Upto300(500)| 30 |27 | 19|26 |16 |25 | 2 [13[10(13)[50| 8 | 47| M6Depth12 |14 | M14 X 1.5 | 44 |1/8| 78 (87) | 12 |10(12) | M10 X 1.25 | 130 (139)
50 |Uptod00(600)| 35 |32 |27 | 32|20 30| 2 |14 [12(14)[58 |11 |58| M8Depth16 |18 | M18 X 1.5 | 55 | 1/4] 90 (102) | 13 |12 (13) | M12 X 1.25 | 150 (162)
63 |Upto300(800)[ 35 |32 |27 |38 20| 32| 2 |14 [12(14)[58 | 11| 72| Mi0Depth16 |18 |M18 X 1.5 | 69 | 1/4] 90 (102) | 13 |12(13) | M14 X 1.5 | 150 (162)

Note 1) Dimensions for each mounting bracket are the same as those for CG1 standard or long stroke model. Refer to p.1.7-8 to 1.7-10. Also, refer to p.1.7-12 for auto switch equipped style.

Note 2) ( ): Long stroke

With air cushion

3:’;3 P |wa| wB |wH|we
40 |Rc(PT)18 | 16 | 15(16) | 33 | 20°
50 |Rc(PT)1/4 | 18 |17 (18) |405 | 20°
63 |Rc(PT)1/4 | 18 | 17 (18) |475]| 20°

Note) ( ): Long stroke

/\ Precautions

Handling

/N\Cautions

(D Avoid using the air cylinder in such a way that rotational torque would be

applied to the piston rod.

@ If rotational torque is applied, the non-rotating guide will become deformed.

Refer to the table below for the allowable range of rotational torque.

Allowable rotational torque

220

025/032

040/250/063

(Nm)

0.2

0.25

0.44

@ To screw a bracket or a nut onto the piston rod, make sure to retract the piston
rod entirely, and place a wrench over the flat portion of the rod that protrudes.

O

To tighten, take precautions to prevent the tightening torque from being applied to
the non-rotating guide.

(2 To replace a rod seal, contact SMC.
A rod seal could lead to an air leak, depending on the position in which it is fitted.
Therefore, make sure to contact SMC if a rod seal must be replaced.

SVC

1-7-29

CSt



Non-rotating Rod: Double Acting Double Rod

Series CGTKW

020, 925, 932, 940, 650, 063

How to Order

CG1_|FVTV L| N [251100

N

[P coGikw [L] N [25H{1001-{B53

I I ® Number of
With auto switch auto switches
(magnet) Auto switch = 2
. Without auto switch S 1
Non-rotating rod - (Built-in magnet) n | n

* Refer to the table below for

Double acting/DoubIe rod e selecting applicable auto
switches.
Mounting e
B Basic
[ J
L Axial foot Stroke
F Front flange —l m a;efer to p.1.7-31 for
" andard Stroke Table.
1] Front trunnion
Note) Mounting brackets are Bore size
included, not mounted. 20 >0mm
) 25 25mm
Cushion 32 3omm
N [ Rubber bumper 40| 40mm
50 50mm
63 63mm

Applicable Auto Switches/Refer to p.5.3-2 for further information on auto switch.

S B Load voltage Lead wire (m)* i
Style i i Electrical| § |  Wiring Auto switch model Applicable
Y £ redallineiien entry % (output) DC AC (()j (E) (% ’\é?\;];} load
Swwe || sv | — | ce — |eo |®|—|—|Ic |—
Yes P R B53 ® & ® — | —|PLC
= I B54 [ AN BN B
S L 12v 200V
-"é Grommet No or less _ B64 o || —|— | —
) - Vool —
3 |Yes| 2 wire | 2av 100V C73 — [ AN BN J Relay
o No 5V, 12V [100Vorless| C80 — ® @& — — c |pC
- Yes v | __ | c73C | — | e |e|e|e| —
Connector——
No 5V,12V |24V orless| C80C —_— [ N BN BN NNl
Diagnostic indication _ | —|—|
(2 colour) Grommet |Yes — — BsowW | ®
3 wire (NPN) H7A1 G59 ® @ O|—
- 5V, 12V IC
Grommet 3 wire (PNP) H7A2 G5P ® 0 O|—
_ H7B K59 —
= 2 wire 12V ® 00 —
= Connector H7C e ® 0 0 o
H o | 3wire (NPN) . HTNW_ | Gsow | @ (@O ||
o |Diagnostic indication y : — PW — Rela:
s (2 colour) Ves 3wire (PNP) | 24V H7PW | G5 ® @ O PLCy
7] ) H7BW K59W ® 0 O|—
e] - 2 wire 12v -
= Water resistant (2 colour) Grommet H7BA G5BA — | @|O|—
N With timer 3 wire (NPN) o 1oy _ G5NT | — |@|O|— .
Diagnostic output (2 colour). ; ' H7NF G59F ® 0 O|—
Latch with di tic output A uire
atch with diagnostic outpul
o (NPHY — WL | — | o |@|o]|—|—
x Lead wire length 0.5m------— €.9.) C73C  5m--eeevee Z e.g.) C73Cz
3meeeeeeee L C73CL None-----N C73CN

* Solid state switches marked with "O" are manufactured upon receipt of order.

1-7-30

O

SvC



Non-rotaing Rod: Double Acting Double Rod Series CG1KW

High non-rotating accuracy

020, 925 —— #1°
932 —— +0.8°
040 to 963 ——— +0.5°

High speed operation/Long life
Piston speed is between 50 and 500mm/s
and long life is expected.

Can operate without lubrication.

The same installation dimensions
as the standard cylinder.

Auto switches can also be
mounted.

It can be installed with auto switches to simplify
the detection of the stroke position of the
cylinder.

JIS symbol

A Precautions

rE_—_—E_E-_—_EE—_EE-_—__—_—_—————————
1 Be sure to read before handling. 1
I Refer to p.0-39 to 0-46 for Safety 1
IInstruction and common precautions.I
I Refer to p.1.7-6 for precautions on

! series CG1K. I

S e |

With Auto Switch

Auto switch can be mounted. Refer to
p.1.7-34 for details.

Specifications

Bore size (mm)

20 | 25 | 3 [ 4 | s0 |

Action Double acting/Double rod
Lubrication Non-lube
Fluid Air
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
Min. operating pressure 0.08MPa ——
Without auto switch: —10°C to +70°C (No freezing) CJ1
Ambient and fluid temperature e ——
With auto switch: —10°C to +60°C (No freezing)
Piston speed 50 to 500mm/s CJ P
Thread tolerance JIS class 2 CJ2
Stroke tolerance up to 600 *54mm I—
Cushion Rubber bumper CM2
Rod non-rotating accuracy +1° ‘ +0.8° +0.5° —
Mounting Easic, Axia_l foot, Front flange, C85
ront trunnion e
C76
Accessories ————
Mounting Basic | Axial foot 1"I:ar(r)1;te trl'jrl;cr)wri]gn W
Standard | Rod end nut [ ] [ [ ] —
Single knuckle joint ® [ ] [ ] MB1
Option | Double knuckle joint™* (with pins) ] o (] CP95
Pivot bracket — — [ 2o —
* Pins and snap rings for double knuckle joint are included, not mounted. C95
Stroke P
Bore size (mm) Standard stroke (mm)® Long stroke (mm) C92
20 25, 50, 75, 100, 125, 150, 200 — CA1
25 — —
32 25, 50, 75, 100, 125, 150, 200, — CS1
40 250, 300 301 to 500
50/63 301 to 600

Note 1) Other intermediate strokes can be manufactured upon receipt of order. Spacers are not used for the

intermediate strokes.

Note 2) The maximum limit is 1500 stroke, but the products that exceed the standard or long stroke limit are not

guaranteed.

O
:

1-7-31



Series CGT1KW

Weight (kg) Mounting Bracket Part No.
Bore size (mm) 20 | 25 | 32 | 40 | 50 | 63 ' Bore size (mm)
Mounting bracket
%, Basic 0.13]0.22|0.33|0.55(1.02(1.37 20 25 32 40 50 63
g Axial foot 0.241035/049/0.7711.502.09 Axial foot* CG-L020 | CG-L025 | CG-L032 | CG-L040 | CG-LO50 | CG-L063
Flange CG-F020 | CG-F025 | CG-F032 | CG-F040 | CG-F050 | CG-F063
% Flange 02110321047107511.3011.87 Trunnion pin | CG-T020 | CG-T025 | CG-T032 | CG-T040 | CG-T050 | CG-T063
m Trunnion 0.14]/0.24]0.36|0.60(1.16|1.51
: ; CG-020 | CG-025 | CG-032 | CG-040 | CG-050 | CG-063
Pivot bracket 0.08{0.09|0.17|0.25|0.44|0.80 Pivot bracket 24A 24A Yy oah, 24 2aA,
Single knuckle joint 0.05|0.09{0.09|0.10{0.22|0.22 - Order two foot brackets per a cylinder.
Double knucklejoint (With pins) 0.05/0.09(0.09/0.13]/0.26|0.26 = Mounting bolts are attached for the foot style and the flange style.
Additional weight by each 50 stroke [0.07(0.10(0.13|0.23|0.34|0.38

Calculation example: CG1KWLN32-100 (Foot, 232, 100 stroke)
* Basic weight.-- 0.49 (Foot, 32) * Cylinder stroke------- 100 str
« Additional weight------0.13/50 stroke 0.49+0.13 X 100/50=0.75k

Construction

oke
9

Auto Switch Mounting Bracket Part No.

Auto switch Bore size (mm)
model 20 25 32 40 50 63
D-C7.C8 BMA2 BMA2 BMA2 BMA2 BMA2 BMA2
D-H7 -020 -025 -032 -040 -050 -063
D-B5-B6
——=__| Ba01 BA02 | BA32 | BAO04 | BA-05 | BA-06
D-G5-K5

Note) A set of following stainless steel mounting screws is attached.
(A switch mounting band is not attached. Please order the band separately.)
BBA3: D-B5/B6/G5 types
BBA4: D-C7/C8/H7 types
-"D-G5BAL" and "D-H7BAL" switches are set on the cylinder with the screws above when
shipped.
When a switch only is shipped, "BBA3" or "BBA4" screws are attached.

@20 to 032
Component Parts
No. Description Material Note
Rod cover A Aluminum alloy White hard anodized
Rod cover B Aluminum alloy White hard anodized

Cylinder tube Aluminum alloy

Hard anodized

Piston Aluminum alloy Chromated
Piston rod A Carbon steel” Hard chrome plated
Piston rod B Carbon steel™™ Hard chrome plated

Non-rotating guide |Oil impregnated sintered alloy

Bushing QOil impregnated sintered alloy|240 or larger: Lead bronze cast
Bumper Urethane
@ | Rodend nut Rolled steel

* The material is stainless steel for 20 to 832.
#x The material is stainless steel on auto switch equipped style 820 and 225.
=+ A magnet is equipped on the piston of the cylinder with auto switch.

Replacement Parts/With rubber bumper

No. Description Material Bore size (mm)/Part No.
220 025 232 240 850 263
a Rod seal A NBR PDU-8Z PDU-10Z PDU-12LZ PDU-16Z PDU-20Z
(@) Rod seal B NBR SS-9 X 8K2Q SS-11 X 10K2 SS-12 SS-16S SS-20S
(&) Piston seal NBR PPD-20 PPD-25-19 PPD-32 PPD-40 PPD-50 PPD-63
@] Tube gasket NBR CM-020-16-123 | CM-025-16-124 | CM-032-16-126 | CM-040-16-127 | CM-050-16-128 | CM-063-16-129
1-7-32

O



Non-rotaing Rod: Double Acting Double Rod Series CG1KW

Basic CG1KWBN: With rubber bumper

Width across flats B+ GA 2-Tc (PT) P GA
MM\ _H: | N MM
1
s\ T L
=1~ = -
I é ;i fan) _ fan\s
w|s L1k N/ ) I
[=] 7 '\ 5 | — .
_ Width across/ CJ1i
AL ; flats KA =
A | 4-TC K P
FI| TA TA || F 7CJ
H S+stroke H+stroke C J2
ZZ+2 stroke L
CM2
Bore Stroke range C85
(mm) (mm) A |AL | B+ |OC| D |DK| E F | GA | Hi | J K | KA | KB MM NA | P S
20 Upto200 | 18 |156.5]| 13 | 14 8 | 92| 12 2 12 5 26 M4 Depth 7 5 6 8 M8 24 | 1/8 | 77 C76
25 Upto 300 | 22 |19.5| 17 |16.5| 10 | 11 | 14 2 12 6 31 M5 Depth 7.5 55| 8 10 | M10X1.25 | 29 | 1/8 | 77 ——
32 Upto300 | 22 [19.5] 17 |20 | 12 | 12 | 18 | 2 12| 6 38 M5 Depth 8 55| 10 | 10 | M10X1.25 |355| 1/8 | 79
40 Upto500 | 30 | 27 | 19 | 26 | 16 | 16 | 25 2 13 8 47 M6 Depth 12 6 | 14 | 14 | M14X 15| 44 | 1/8 | 87
50 Upto600 | 35 | 32 | 27 | 32 | 20 | 20 | 30 2 14 | 11 | 58 M8 Depth 16 7 | 18 | 18 | M18X 1.5 | 55 | 1/4 [{102 M B
63 Upto600 | 35 | 32 | 27 | 38 | 20 | 20 | 32 2 14 | 11| 72 M10 Depth 16 7 | 18 | 18 [ M18 X 1.5 | 69 | 1/4 [102 ——
Note 1) Dimensions are the same as CG1W standard. Refer to p.1.7-19. MB1
(Bore) TA TC H 77 Note 2) Old number is made-to-order CG1#Nx-x-XC21. e —
mm
20 11 M5 35 | 147 CP95
25 11 M6 X 0.75 | 40 | 157
32 11 | M8X1.0 | 40 | 159 C95
40 12 | M10X1.25| 50 | 187
50 13 |M12X1.25] 58 | 218 C92
63 13 M14X 1.5 | 58 | 218
CA1
/\ Precautions cs1

Handling

/\Cautions

(DAvoid using the air cylinder in such a way that rotational torque

would be applied to the piston rod.

e If rotational torque is applied, the non-rotating guide will become
deformed, thus affecting the non-rotating accuracy.
Refer to the table below for the approximate values of the allowable

range of rotational torque.

To tighten, take precautions to prevent the tightening torque from

Allowable rotational torque
(Nm)

020

025/032

040/050/263

0.2

0.25

0.44

e To screw a bracket or a nut onto the piston rod, make sure to retract
the piston rod entirely, and place a wrench over the flat portion of the

rod that protrudes.

must be replaced.

O
:

being applied to the non-rotating guide.

(@To replace a rod seal, contact SMC.
A rod seal could lead to an air leak, depending on the position in
which it is fitted. Therefore, make sure to contact SMC if a rod seal

1-7-33



Series CDG1KW
Auto Switch Specificationsm

Refer to p.5.3-2 for details of the auto switch.

Applicable auto switch

5 _ge Auto switch model Electrical entry (Function) Page
e \Ti .,l D-C7,C8 Grommet 5.3- 9
i" {,.,J Reed D-C73C, C80C Connector 5.3-11
4 switch D-B5, B6 Grommet 5.3-10
D-B59W Grommet (2 colour indicator) 5.3-25
D-H7O Grommet 5.3-29
D-H7OW Grommet (2 colour indicator) 5.3-42
D-H7LF Grommet (2 colour, Latch with diagnostic output)|  5.3-49
Aprecautions D-H7NF Grommet (2 colour, Diagnostic output) 5.3-50
} D-H7BAL Grommet (2 colour, Water resistant) 5.3-55
P e | il D-H7C Connector 5.3-31
I state
| Be sure to read before handling. | switch D-G5, K5 Grommet 5.3-30
' Refer to p.0-44 to 0-46 for Safety | D-G500W, K59W Grommet (2 colour indicator) 5.3-43
: Instructions and common | D-G59F Grommet (2 colour, Diagnostic output) 5.3-51
l_F_’r_e_cfi‘E'?['f'_________________; D-G5NTL Grommet (With timer) 5.3-59
D-G5BAL Grommet (2 colour, Water resistant) 5.3-56
Auto Switch Mounting Position and Mounting Height
D-B5/B6 D-C7/C8
12 Auto switch =Hs_ 8.5 _Auto switch
4 f | - vy
i |
A 33 B A |26 .
D-G5/K5/G5DW/G5BAL D-K59W/G59F/G5NT D-H7C

12 Auto switch
le  AUOSWICR

D- H7D/H}DW/H7DF/H7BAL

Auto switch
: Ty y
P
T
A | 29
( ): D-H7LF (36)

Auto Switch Mounting Height (mm)
Bore D-C7/D-C8 D-C73C/D-C80C D-B5/D-B6 D-B59W
(mm) A B Hs A B Hs A B Hs A B Hs
20 30 285 | 245 30 28.5 27 24 225 27 27 255 | 275
25 30 28.5 27 30 285 | 295 24 225 30 27 255 30
32 31 295 | 305 31 29.5 33 25 235 | 335 28 265 | 335
40 35.5 33 35 35.5 33 375 | 295 27 38 325 30 38
50 43 405 | 405 43 40.5 43 37 345 | 435 40 375 | 435
63 43 405 | 475 43 40.5 50 37 345 | 505 40 375 | 505
80 — — — — — — 46.5 45 59 495 48 59
100 — — — — — — 46.5 45 69.5 | 495 48 69.5

(mm)
D-H7O  D-H7C D-G5 D-K5

(Er’,;)rrne) D-H7OW D-H7BAL D-H7OF B:%gglN D-G5O0W D-G59F

A B Hs A B Hs A B Hs A B Hs
20 29 27.5 27 | 275 26 | 245 | 255 24 275 | 24 | 225 | 275
25 29 27.5 30 | 275 26 27 25.5 24 30 24 | 225 | 30
32 30 28.5 33 | 285 27 | 305 | 265 25 335 | 25 | 235 | 335
40 345 32 375 | 33 305 | 35 31 28.5 38 | 295 | 27 38
50 42 39.5 43 | 405 38 | 405 | 385 36 435 37 | 345 | 435
63 42 39.5 50 | 405 38 | 475 | 385 36 505 | 37 | 345 | 505
80 — — — — — — 48 46.5 59 | 465 | 45 59
100 — — — — — — 48 465 | 695 | 465 | 45 | 695

1-7-34



Direct Mount: Double Acting

Series CG1R

020, 925, 932, 940, 850, 063

How to Order

With auto switchI

Bore size @
20mm
25mm

20]
25|
32|
40|
50
63|

(magnet)

CG1R

25

100

|

25

100

Cushion

N Rubber

bumper

A Air cu

shion

32mm

40mm

50mm

63mm

B53

Auto switch

® Number of
auto switches
— 2
S 1

Without auto switch
(Built-in magnet)

n n

= Refer to the table below for
selecting applicable auto

switches.

Stroke (mm)

Applicable Auto Switches/Refer to p.5.3-2 for further information on auto switch.

m Refer to p.1.7-36 for Standard Stroke Table.

5 Load voltage Lead wire (m)*
f q ical| ®| Wiring . Applicable
Style | Special function Electrical| § Auto switch model 05| 3|5 N
|2 . one
entry E (output) DC AC O lolalm load
3 wire
(NPN) || SV — C76 = ® @& —|—|IC|—
Yes — — B53 e |[eo[0— | —[rcC
5 Grommet| | 1oy | 200V — B54 (AL
_-é [No| or less — B64 ® o —|—| —
) — _
& No 5V, 12V[100Vorless) ~ C80 — ® |®—|—|IC|p¢
& comean™® v | — C73C — o o000 —
omecr NG 5V, 12V|2avorless|  csoC — e o/o[0 C
Diagnostic indication (2 colour)| Grommet [Yes — — — B59W ® o - —| —
3 wire (NPN) sV 12V H7A1 G59 ® 0 O — i
Grommet| |3 wire (PNP) ' H7A2 G5P ® 0 O
H7B K59 ® O O —
2 wire 12v —
::g Connector H7C — [ B 3K
% . S 3 wire (NPN) 5V 12V H7NW G59W ® 0 O — c
o Diagnostic indication Yes|3 Wire (PNP)| o4y ’ o H7PW G5PW ® 0 O — Relay
% (2 colour) H7BW Ksow | @ |@| O |— PLC
-] 2 wire 12v _
5 [Water resistant (2 colour) Grommet H7BA G5BA — | @|O|—
@ With timer 3 wire (NPN) SV 12V — GoNT | — [@[O[—[
Diagnostic output (2 colour) 4 wire ’ H7NF G59F ® 0 O —
Latch with diagnostic output NPN _ _ I
2 colou] (NPN) H7LF ® 0O
« Lead wire length 0.5m----.— e.g.) C73C  5m---eeeee V4 e.g.) C73Cz
3meeeeeeees L C73CL None-----N C73CN

x Solid state switches marked with "O" are manufactured upon receipt of order.

O
:

1-7-35

e _




Series CG1R

Specifications
The CG1R Series direct mount cylinder Bore size (mm) 20 | 25 | 3 [ 40 [ s0 | 63
_ . Action Double acting/Single rod
can be installed directly through the use Lubricat
ubrication Non-lube

of a square rod cover. Fluid Air

. . . Proof pressure 1.5MPa
Space saving configuration Max. operating pressure 1.0MPa
Because it is directly mounted without Min. operating pressure 0.05MPa

using brackets, its overall length is shorter,
and its installation pitch can be made

smaller. Thus, the space that is required for
installation has been dramatically reduced.

@ Q P

-_ o 2 -
e e 9 ”
iq " M -
g
aﬂ- g o

-

JIS symbol

|
[

Made to order

Refer to P.5.4-1 for made to order products of
series CG1R.

A Precautions

| e e i |

1 Be sure to read before handling. 1

I Refer to p.0-39 to 0-43 for Safety 1

Iinstruction and common precautions.!
Refer to p.1.7-6 for precautions on

! series CG1K. -

e o e e o

1-7-36

Without auto switch: —10 to +70°C (No freezing)

Ambient and fluid temperature

With auto switch: —10 to +60°C (No freezing)

Piston speed

50 to 1000mm/s

Thread tolerance

JIS class 2

Stroke tolerance

up to 300 *'gmm

Cushion Rubber bumper/Air cushion
Weight (kg)
Bore size (mm) 20 25 32 40 50 63
Basic weight 0.14 0.23 0.35 0.57 1.04 1.49
Single knuckle joint 0.05 0.09 0.09 0.10 0.22 0.22
Double knuckle joint (with pins) 0.05 0.09 0.09 0.13 0.26 0.26
Additional weight by each 50 stroke 0.05 0.07 0.09 0.15 0.22 0.26
Additional weight by air cushion 0.01 0.01 0.02 0.02 0.03 0.03
Calculation example: CG1RN32-100 « Basic weight:«-«------ 0.35

(232, 100 stroke) * Additional weight:-----0.09/50 stroke

« Cylinder stro
0.35+0.09 X

KEevevvenee 100 stroke
100/50=0.53kg

Accessories Stroke
Mounting Basic B?:ﬁrﬁi)ze Standard stroke™® (mm)
Standard | Rod end nut ([ J
- — 20 25, 50, 75, 100, 125, 150

Single knuckle joint | @
Option — 25/32 |25, 50, 75, 100, 125, 150, 200

Double knuckle joint P

(with pins) 40/50/63 25, 50, 75, 100, 125, 150,

200, 250, 300

* Pins and snap rings for double knuckle joint are
included, not mounted.

+Other intermediate strokes can be manufactured upon
receipt of order. Long strokes are not available.
Spacers are not used for the intermediate strokes.

Auto Switch Mounting Bracket Part No.
Auto switch Bore size (mm)
model 20 25 32 40 50 63
% BMA2-020 | BMA2-025 | BMA2-032 | BMA2-040 | BMA2-050 | BMA2-063
D-B5/B6
—bGsks | BAOT BA-02 BA-32 BA-04 BA-05 BA-06

Please order the band separately.)

Q Note) A set of following stainless steel mounting screws is attached. (A switch mounting band is not attached.

BBA3: D-B5/B6/G5 types
BBA4: D-C7/C8/H7 types
- "D-G5BAL" and "D-H7BAL"switches are set

on the cylinder with the screws above when shipped.

When a switch only is shipped, “BBA3” or "BBA4" screws are attached.

O
:



Clean Series

Direct Mount: Double Acting Series CG 1R

Copper Free

10-CG1RN ’ Bore size H

Stroke ‘

Clean series (with relief port)
The rod portion of the actuator has a double seal construction, and a relief
port is provided to discharge the exhaust air directly outside of the clean room.

Thus, it can be used in a Class 100 clean room.

20-CG1R ’ Cushion H Bore size H Stroke

Copper free

This cylinder eliminates any influences of copper ions or fluororesins on colour
CRTs. Copper materials have been nickel plated or replaced with non-copper

materials to prevent the generation of copper ions.

Specifications Specifications ——
Bore size (mm) 220, 825, 832, 240, 650, 263 Bore size (mm) 220, 825, 832, 240, 850, 263 CJ1
Action Double acting Action Double acting [
Fluid Air Fluid Air CJ P
Max. operating pressure 1.0MPa Max. operating pressure 1.0MPa [
Min. operating pressure 0.05MPa Min. operating pressure 0.05MPa CJ2
Cushion Rubber bumper ) Symbol N Rubber bumper [
Piston speed 50 to 400mm/s Cushion Symbol A Air cushion CM2
Relief port size M5 Piston speed 50 to 1000mm/s [

* Auto switch can be mounted. * Auto switch can be mounted. C85

C76

MB

i MB1
Construction —
CP95
Standard/Bottom mounting/With rubber bumper With air cushion —
C95
o 5 @
|I| 11 1 | C92
| AL —
= B CA1

Component Parts

CSt

No. Description Material Note No. Description Material Note
@® Rod cover Aluminum alloy White hard anodized @ Cushion ring A Brass
@ Tube cover Aluminum alloy White hard anodized (E) Cushion ring B Brass 232 or larger: the same as ring A
® Piston Aluminum alloy Chromated ] Seal retainer Rolled steel
@ Piston rod* Carbon steel Hard chrome plated (B Cushion valve Rolled steel Electroless nickel plated
® Bushing Oilimpregnated sintered alloy | @40 or larger: Lead bronze cast ) Valve retainer Rolled steel Electroless nickel plated
® Bumper A Urethane @ Lock nut Carbon steel Nickel plated
@ Bumper B Urethane 240 or larger: the same as bumper A (B} Cushion seal A Urethane
® Snap ring Stainless steel 9 Cushion seal B Urethane
© Wear ring Resin @0 | Cushion ring gasket A NBR
10 Rod end nut Rolled steel Nickel plated @) | Cushion ring gasket B NBR 232 or larger: the same as gasket A
(@) Piston gasket NBR Note) A rubber magnet is equipped on the piston of the cylinder with auto switch.
* The material is stainless steel on auto switch equipped styles 20 and 25.
Replacement Parts/With rubber bumper
- ) Bore size (mm)/Part No.
No. Description Material
220 025 032 040 250 063
@ Rod seal NBR PDU-8Z PDU-10Z PDU-12LZ PDU-16Z PDU-20Z PDU-20Z
@ Piston seal NBR PPD-20 PPD-25-19 PPD-32 PPD-40 PPD-50 PPD-63
2) Tube gasket NBR CM-020-16-123 | CM-025-16-124 | CM-032-16-126 | CM-040-16-127 | CM-050-16-128 | CM-063-16-129

With air cushion (Parts @ to @ are the same as rubber bumper style.)

Valve seal

NBR

O ring 4.5 X 62.5 X o1

O ring 5.5 X 3.5 X o1

®®

Valve retaining gasket

NBR

O ring 96.4 X 5.2 X 90.6

O ring 7.4 X 5.8 X 20.8

O
:

1-7-37



Series CG1R

Basic: Bottom Mounting

With rubber bumper/CG1RN

GA 2-RC(PT)P GB 2-0LD
x | /
MM Hi  Width | v ff
across /
\ flats B / 19
\| |/ / o3
T [
W i ] iy u
\h i B I |I [}
= __% S — - f;,;'l
ml — X | T & |
I
I |
| 1
AL
A K N
H AN S + Stroke F
L ZZ + Stroke
With air cushion/CG1RA
A port WD
2-0LD
WA P UL:! \ Aport
GA \ GB Vol we
j— X - P 0 \ é —
MM \ oS - I
| | i 4 [ | i i =
| | N il w : R H
Lr - _ H H =] l-_.ﬂIJ Lr _.,IJ g
F 1 (=]
T | el 1H
e ] &2 1l
] 1 | T
W | | HE
H ! L eIl
widh [~ ;A . | '
across [ . Y |
flats B1 KL oN I
H S + Stroke ||_F
ZZ + Stroke L
(mm)
o P err9®l A | AL B | D |E [GA|GB|H |Hi |1 | K|[KA|OL| D |LH[LX| MM | NP |S|X]|Y |2z
20 Upto150 | 18 |155| 13 | 8 |12 |20 (10 |27 | 5 |26 | 5 | 6 |30.4|535095Depth | 15 | 18 | M8 |27 |1/8 |75 | 38 | 11 |104
25 |Upto200 |22 (19.5( 17 |10 [ 14 [ 22 |10 |32 | 6 |31 |55 | 8 [36.4|2880liDenth | 1g | 22 IMI0X1.25 29 [1/8 | 77 | 44 | 12 111
32 |Upto200 |22 [19.5( 17 |12 | 18 | 26 [ 10 | 32 | 6 |38 | 5.5 | 10 |42.4| 90t4Denth | 21 | 24 |M10X125 33 |1/8 | 83 | 45 | 13 |117
40 |Upto300 |30 |27 |19 |16 |25 [ 30 |10 | 39 | 8 |47 | 6 | 14 |52.4|ailel75Denin| o6 | 32 |M14X 15| 37 [1/8 | 94 | 55 | 16 (135
50 |Upto300 |35 |32 |27 |20 (30|33 |12 |45 |11 |58 | 7 |18 |64.5|214020Depth | 32 | 41 |M18X15| 44 |1/4 |108 | 62 | 17 |155
63 Upto300 |35 |32 |27 |20 |32 |39 [12 |45 |11 [ 72 | 7 | 18 |76.6|,218220Depth | 38 | 46 (M18X 15| 50 |1/4 [114 | 64 | 19 |161
With air cushion (mm)
Bore |Stroke range
(mm) (mm) P WA | WB | WC | WD | WH | WH2| We
20 | Upto 150 M5 20 | 15 | 85| 2 |25 | 23 | 30°
25 | Upto200 M5 24 | 15 | 11 | 2 [275| 25 | 30°
32  |Upto200 |Rc(PT)1/8 | 28 | 15 |14.5| — [80.5]|28.5| 25°
40 | Upto300 |Rc(PT)1/8 | 32 | 15 |185| — [855| 33 | 20°
50 |Upto300 |Rc(PT)1/4 | 35 | 17 | 22 | — [43.5]|40.5| 20°
63 |Upto300 |Rc(PT)1/4 | 41 | 17 | 29 | — [49.5]|47.5| 20°

1-7-38

O
:



Direct Mount: Double Acting Series CG 1R

Auto Switch Mounting Position and Mounting Height

D-C7 D-G5, D-K5
26 =Hs 33 =Hs
—t X X ' w
i m ] :
= - P
T 1) J—
12
CJi
A 8.5 B —
CJP
_ D-C73C
D-H CJ2
29 36.7
) CM2
| : ; C85
Eﬁ—i—ﬂ% tl%ﬂ-@%} F il
—H C76
A 8.5 B A 8.5 CG1
MB
D-B D-H7C —
MB1
33 EHS R
l Hﬁ CP95
= L
Oy =B C95
C92
A 8.5 —
CA1
(043} |
Auto Switch Mounting Position Mounting Height (mm)
i D-C7,C8 D-B5,B6 D-G5NTL
D-B5, B6 D-H70) D-B59W D-G59F
model ’ D-H7OW D-G5 H
perac caoc | asert| D-Bsow | DT | DHZOF | DKs - DHTOW D.Casg  |D-G5, K5 D-GSBAL
' TN D-H7BAL | D-G5NTL D-H7OF D-G500W
D-H7BAL D-K59W
Bore size B A B A B A B A B A B Hs Hs Hs
20 9 20.5 3 14.5 6 17.5 8 19.5| 6.5 18 4.5 16 245 27 27.5
25 20.5 3 14.5 6 17.5 8 19.5 | 6.5 18 4.5 16 27 29.5 30
32 10 21.5 4 15.5 7 18.5 9 205 | 7.5 19 5.5 17 30.5 33 33.5
40 14.5 24 8.5 18 115 21 13.5 23 12 21.5 10 19.5 35 37.5 38
50 17 28,5 | 11 225 14 | 255 | 16 | 275|145 | 26 | 125 24 40.5 43 43.5
63 17 28,5 | 11 22.5 14 | 255 | 16 | 275|145 | 26 | 125 24 47.5 50 50.5
1-7-39

O
:



Direct Mount Non-rotating Rod: Double Acting

Series CGT1KR

020, 925, 932, 940, 650, 663
How to Order

cG1KRN 25100

T T 1 |

T cDG1KRN[25H{100]-{B53

With auto switchI o Number of
(magnet) Auto switch auto switches
Non-rotating rod Without auto switch — 2
- (Built-in magnet) S 1
. =Refer to the table below for
Cushion selecting applicable auto —n | :
N [ Rubber bumper switches.
Note)Air cushion “CG1KRA” o Stroke (mm)
is a made to order product. Refer to p.1.7-41
R m for Standerd Stroke
Bore size & Table.
20 | 20mm : : . ) .
5| 25mm Appllcable Auto Switches/Refer to p.5.3-2 for further information on auto switch.
32| 32mm soocial  |ersctica 5 W Load voltage Ao witch Lead wire (m)* P—
40 40mm Style oot ectrical) §| Wiring e Gl 0.5 | 3 | 5 [None
—_ function entry output D A model - load
50| 50mm I i) oE c O |O]@|n
63mm i
EE 6omm Swre |~ sv | — 76| — | @ |@|—|—| 10 [—
Yes — | —|Bss| @ [@|@|—| —[PC
< Grommet| | 12V | 5oy | — [B54 | @ @ @ —
_§ |No| orless| — |Be4 | @ @|—|—| —
a Yes . 2av i2v | 100V | C73 | — o 0 0o —
g ’T 2 wire — Relay
3 o 5V, 12V | 100V orless| C80 ® ® — — | C |p¢
- Yes 12v] — lersc] — [ @ (@@ ]@] —
Connector—
No 5V, 12V|Workss|c80C| — | @ (@ | @ | @ | IC
g ety 219" Grommet |Yes — | — | — B59W| ® @ | —|—| —
3wire (NPN) H7A1|(G59 | @ (@ | O | —
- 5V, 12V IC
Grommet| |3 wire (PNP) H7A2|G5P | @ @ | O
H7B (K59 | ® @ | O | —
2 wire 12v —
§ Connector H7C | — | ® ©®|®
H 3wire (NPN) 5V 12V H7NW |G59W| @ @ | O | — c
@ | Diagnostic indication Ves|3Wite (PNP)| o241/ ’ _ |H7"PWI!GsPW| ©® @ | O | — Relay
S (2 colour) PLC
o 2 wire oy H7BW |K59W| @ (@ | O | — -
2 | eS| Grommet H7BA|G5BA| — [@ | O [ —
D1 with timer 3wire (NPN) — lesnT| — (@O —
Diagnostic output 5Vv 12v IC
2 colour) 4 wire H7NF |G59F . . O —
Latchwnr‘lzdwcig‘;g:rs’ncoutpul (NPN) . H7LF | — . . O — -
* Lead wire length  0.5m-----—  e.g.) C73C, 5m------e- Z e.g.)C73Cz,
3Meeeeeeees L C73CL None-----N C73CN
* Solid state switches marked with "O" are manufactured upon receipt of order.
Auto Switch Mounting Bracket Part No.
Auto switch Bore size (mm)
model 20 25 32 40 50 63
D-C7/C8
D-H7 BMA2-020 | BMA2-025 | BMA2-032 | BMA2-040 | BMA2-050 | BMA2-063
D-B5/B6
BA-01 BA-02 BA-32 BA-04 BA-05 BA-06
D-G5/K5

Please order the band separately.)
BBA3: D-B5/B6/G5 types
BBA4: D-C7/C8/H7 types
- "D-G5BAL" and "D-H7BAL"switches are set on the cylinder with the screws above when shipped.
When a switch only is shipped, “BBA3” or "BBA4" screws are attached.

SvC

Q Note) A set of following stainless steel mounting screws is attached. (A switch mounting band is not attached.

1-7-40

O



Direct Mount Non-rotating Rod: Double Acting Series CG1KR

The CG1R Series direct mount

cylinder can be installed directly

through the use of a square rod

cover.

Space saving configuration
Because it is directly mounted without
using brackets, its overall length is shorter,
and its installation pitch can be made
smaller. Thus, the space that is required for
installation has been dramatically reduced.

JIS symbol

)
&

Specifications
Bore size (mm) 20 | 25 | 32 | 40 | s0 | 63
Action Double acting/Single rod
Lubrication Non-lube
Fluid Air
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
Min. operating pressure 0.05MPa
. . Without auto switch: —10°C to +70°C (No freezing) CJ1
Ambient and fluid temperature —
With auto switch: —10°C to +60°C (No freezing) CJ P
Piston speed 50 to 500mm/s L
Stroke tolerance JIS class 2 CJ2
Thread tolerance up to 300*1'§mm —_—
Cushion Rubber bumper CM2
Rod non-rotating accuracy +1° ‘ +0.8° +0.5° —
C85
Weight k) |C76
Bore size (mm) 20 25 32 40 50 63 e
Basic weight 0.14 0.24 0.35 0.56 1.04 1.48
Single knuckle joint 0.05 0.09 0.09 0.10 0.22 0.22
Double knuckle joint (with pins) 0.05 0.09 0.09 0.13 0.26 0.26 M B
Additional weight by each 50 stroke 0.05 0.07 0.09 0.15 0.22 0.26 (N
Calculation example: CG1KRN32-100 * Basic weight:-««ee-- 0.35 M B1
(232, 100 stroke)  * Additional weight:-----0.09/50 stroke
¢ Cylinder stroke: -+ 100 stroke
0.35+0.09 X 100/50=0.53kg CP95
Stroke Accessories 7C 95
Bczre si)ze Standard stroke* (mm) Mounting Basictype L
mm
Standard | Rod end nut [ J
20 25, 50, 75, 100, 125, 150 X . ng
Single knuckle joint o —
25/32 25, 50, 75, 100, 125, 150, 200 Option Double knuckle ioint CA1
25, 50, 75, 100, 125, 150, O-U e- nuckle join o
(with pins) —
40/50/63 200, 250, 300
’ ’ +Pins and snap rings for double knuckle joint are attached, CS1

« Other intermediate strokes can be manufactured upon receipt ~ N°t mounted.

of order. Long strokes are not available.
Spacers are not used for the intermediate strokes.

/\ Precautions

1

| Be sure to read before handling. |

! Refer to p.0-39 to 0-46 for Safety Instruction and common precautions. |
I
1

| Refer to p.1.7-6 for precautions on CG1K series.

’ Handling
/\Cautions

(D Avoid using the air cylinder in such a way that rotational torque would be applied
to the piston rod.

@ If rotational torque is applied, the non-rotating guide will become deformed, thus affecting the
non-rotating accuracy. Refer to the table below for the allowable range of rotational torque.

Allowable rotational torque 220 925/932 240/050/063
Nm 0.2 0.25 0.44

@ To screw a bracket or a nut onto the piston rod, make sure to retract the piston rod entirely, and
place a wrench over the flat portion of the rod that protrudes. To tighten, take precautions to
prevent the tightening torque from being applied to the non-rotating guide.

(2 To replace a rod seal, contact SMC.
A rod seal could lead to an air leak, depending on the position in which it is fitted.
Therefore, make sure to contact SMC if a rod seal must be replaced.

1-7-41
ZSNC




Series CG1KR

Construction

Non-rotating rod/Bottom mounting

Component Parts

02010 032

==
{ r
|
=

e
1
i

|

No. Description Material Note
® Rod cover Aluminum alloy White hard anodized
@ Tube gasket Aluminum alloy White hard anodized
® | Piston Aluminum alloy Chromated
@ Piston rod™ Carbon steel Hard chrome plated
® Non-rotating guide Ol impregnated sintered alloy
® Bushing Oil impregnated sintered alloy 220 to 232 only
@ Rod end nut Rolled steel Nickel plated * The material is stainless steel for 20, ©25. and 32
Bumper Urethane
® | Wearring Resin
Replacement Parts
o . Bore size (mm)/Part No.
No. Description Material 220 225 232 240 250 ‘ 263
Rod seal NBR SS-9 X 8K2Q | SS-11 X 10K2 SS-12 SS-16S SS-20S
a Piston seal NBR PPD-20 PPD-25-19 PPD-32 PPD-40 PPD-50 PPD-63
() Tube gasket NBR CM-020-16-123 | CM-025-16-124 | CM-032-16-126 | CM-040-16-127 | CM-050-16-128 | CM-063-16-129

Basic/Bottom mounting: CG1KRN

_ GA 2-RC(PT)P @B.,
—_—
||III
! w
| o2
1 I 7 7
CLR f H E
o B R |
| | =
o L] I— @
[ l
1]
| |
I|I 1
o |
B S + Stroke - - _l__'_F -
ZZ + Stroke -
(mm)
Bore | Stroke range
(mm) (mm) A |AL | B1 | D | E |GA|GB| H | H1 I |[KA| L LD LH | LX MM N|P|S|X]|Y|Zz
20 Upto 150 | 18 [15.5/ 13 |9.2 |12 [20 |10 |27 | 5 |26 | 8 |30.4 955,095 Depthof counterbore6| 15 | 18 M8 27 [1/8| 75|38 | 11 [104
25 Upt0200 | 22 |19.5[17 |11 |14 |22 |10 |32 | 6 |31 | 10 |36.4 | 966 011 Depthof counterbore7 | 18 | 22 |M10 X 1.25| 29 |1/8 | 77 | 44 | 12 |111
32 Upto200 | 22 [19.5/17 |12 |18 [ 26 |10 |32 | 6 |38 | 10 |42.4 |09 014 Depthof counterbored| 21 | 24 |M10 X 1.25| 33 | 1/8 | 83 | 45 | 13 [117
40 Upto300 |30 |27 |19 |16 |25 |30 |10 [ 39 | 8 |47 | 14 |52.4 |o11,0175Depth of counterboret2| 26 | 32 |M14 X 1.5| 37 |1/8 | 94 | 55 | 16 [ 135
50 Upto300 |35 |32 |27 |20 | 30 |33 |12 |45 | 11 | 58 | 18 |64.5 |o14,020 Depthof counterborety 32 | 41 |M18 X 1.5| 44 | 1/4[108| 62 | 17 [ 155
63 Upto300 |35 |32 |27 |20 |32 |39 |12 |45 | 11 | 72 | 18 |76.6 |018 026 Depthof counterboret8 | 38 | 46 |M18 X 1.5| 50 | 1/4 [114| 64 | 19 | 161

Auto switch mounting position is the same as that on p.1.7-39.

1-7-42



Low Friction: Double Acting Single rod

Series CG1

020, 925, 932, 940, 950, 063, 280, 2100

How to Order

Ca1
vithato st GBIER

With auto switch
(magnet)

Mounting &——

Basic

Axial foot

Front flange

Rear flange

Front trunnion

Rear trunnion

Clevis

= Not available for bore sizes
280 and 2100.
= Mounting brackets are
included, not mounted.

25

100

|

0 —0

25

100

B53

Low friction

Bore size
E 20mm
25| 25mm
32| 32mm
40| 40mm
50| 50mm
63| 63mm
80| 80mm
100 100mm

I

N

applicable auto switches.

L———eLow friction direction

* Number of
Auto switch auto switches
Without auto switch =1 2
(Built-in magnet) S 1
= Refer to the table below for selecting n n

F

When pressurized on head side

When pressurized on rod side

» Cylinder stroke
Refer to p.1.7-

44 for

Standard Stroke Table.

Applicable Auto Switches/Refer to p.5.3-2 for further information on auto switch.

51 Load voltage Auto switch model Lead wire (m)*
Special i © Wirin: " - i
SV fu?]ction Elg(r:ﬁncal z (Out l?t) PPICADIGLOTelSIZS 0.5 | 3 | 5 [None Ap;loclJlggble
ry k] P DC AC
= 220 t0 863 |220t0 2100 | () | (L) [(2)[(N)
3 wire .
~en) || Y — C76 — ® (@ —|—|IC
Yes — — B53 00 — |pc
5 Grommet 12V | o00v — B54 [ B JIK)
.'g No or less — B64 o0 —|—| —
2 —_— J—
< Yes 2 wire 24V 12v 100V C73 [ K 2K J Rela
3 No 5V, 12V[100Vorless| €80 — oo | |ic |¥
€ N Yes o | — c73c — e o|oe| —
OO No 5V, 12V[2avorless]  c80C — o e|lo[o] C
Diagnostic indication(2 colour)| Grommet |Yes — — — B59W e 0 —|—|—
3 wire (NPN) H7A1 G59 ® |0 O|—
- 5V, 12V IC
Grommet 3 wire (PNP) H7A2 G5P ® (0 O —
H7B K59 ® 0 O —
2 wire 12v _—
::9 Connector H7C — [ KK
a 3 wire (NPN) H7NW G59W ® 0 O|—
o | Diagnostic indication : 5V, 12v Ic Rel
2 Yes | 3 wire (PNP) | 24y — H7PW G5PW | ® (@O |— elay
s (2 colour) PLC
@ 2 wire 1oy H7BW Kssw | @ (@ [ O[—|
% Water resistant (2 colour) | Grommet H7BA G5BA — | @|O|—
@ With timer 3 wire (NPN) — G5NT — | @|O|—
Diagnostic output 5V, 12V IC
e oioun] 4 wire H7NF G59F ® |0 O
Latch with diagnostic output NPN . . I
(2 colou) (NPN) H7LF ® |00
« Lead wire length 0.5m--..— e.g.) C73C  5m--eeee Z e.g.) C73Cz
3meeeeeens L C73CL None:---N C73CN
= Solid state switches marked with "O" are manufactured upon receipt of order.

O
:

1-7-43

e _




Series CG11Q

Application Example

Designed with a low sliding resistance of the A low friction cylinder is used in combination with a precision regulator (IR Series, etc.).
piston, this air cylinder is ideal for applications (D Even if the external @ Even if there is any change
. diameter of the winding in the shape of the moving
such as contact pressure control, which /, Winding roller  Toller changes, the _ object, the changes in the f
. Drive roller /* changes in the pressing —é—ﬂ value of the cylinder's
requires smooth movements at low pressures. {1al ) . force against the drive Croison | Pressing force are kept
\ / ) ggﬁf:@? roller are kept small. T reguiator small, resulting in a stable

pressing force.

Low sliding resistance

Stable sliding resistance
The sliding resistance remains stable even

|

(Moving object)

when the operating pressure changes. -—
Long strokes can be manufactured.
Auto switches can be mounted.  Specifications
Bore size (mm) 20 | 25 | 32 | 40 | 50 | 63 | 80 [ 100
Action Double acting/Single rod
Lubrication Non-lube
Fluid Air
" Proof pressure 1.05MPa
- Max. operating pressure 0.7MPa

Min. operating pressure 0.025MPa 0.01MPa

. . Without auto switch: —10°C to +70°C (No freezing)
Ambient and fluid temperature

With auto switch: —10°C to +60°C (No freezing)

JIS symbol Piston speed 500mm/s
' Stroke tolerance up to 700"1'3mm

[ | i Cushion None Rubber bumper

Basic, Axial foot, Front flange, Rear flange,
Mounting Front trunnion, Rear trunnion, Clevis
(Used for changing the port location by 90 degrees.)

Low friction direction One direction (Refer to "Selection of the direction".)

A Precautions Allowable leakage 0.5 ¢ /min (ANR) or less

Ll e | * Long stroke applies to the axial foot type and the front flange type.
1 Be sure to read before handling 1 Front/Rear trunnion types are not available for bore sizes 880 and #100.

1 Refer to p.0-39 to 0-43 for Safety 1
I Instruction and common precautions. |
I Refer to p.1.7-6 for precautions I Accessories
I on series CG1. 1
N | Mountin Basic | Axial | Front | Rear | Front | Rear | . .
9 foot | flange | flange |trunnion|trunnion
’ Handli ‘ Standard Rod end nut o o [ J o [ ([ [ ]
andiing ancard | Clevis pin - — - - - - [ J
/A Warning Singeknuckejont| ® | ® | ® | ®© | ®© | ® | @
(D In the direction of low friction operation, . Double knuckle ioint™
speed control must be effected through Option | i pins) : ® L ® o ® o L
the meter-in system. - - -
With meter-out control, the exhaust pressure Pivot bracket - — - - ( N ( o
will increase and create a greater sliding « There are no pivot brackets for bore size 80 and 100.
resistance. +x Pins and snap rings for double knuckle joint are included, not mounted.
With auto switch
" - - — Stroke Table
uto switches can be mounted. Mounting -
position/height is the same as the double Bore size (mm) Standard stroke (mm) () Long stroke (2) (mm)
acting/single rod style. Refer to p.1.7-12 and 1.7- 20 25, 50, 75, 100, 125, 150, 200 201 to 350
13 25 301 to 400
. 32 301 to 450
Mounting Bracket Part No.
40 25, 50, 75, 100, 125, 150, 200 301 to 500
Refer to p.1.7-45 for other mounting brackets. 50/63 250, 300 301 to 600
80 301 to 700
Auto Switch Mounting Bracket Part No. 100 301 to 700

Refer to p.1.7-45 for part number of the switch Note 2) The longer the stroke, the greater the sliding resistance could become, due to the sagging of the piston rod.
mounting band for adding auto switches on Therefore, consider installing a guide for such operation.
built-in magnet cylinders. Note 3) Contact SMC for applications that exceed the stroke range shown above.
(The maximum manufacturable stroke is 1500mm.)
1-7-44

ZSNC

Q Note 1) Other intermediate strokes can be manufactured upon receipt of order. Refer to p.1.7-46 for dimensions.



Low Friction: Double Acting Single Rod

Series CG11Q

Sliding Resistance of the Low Friction Side Weight (mm)
0.025 025 | 620 Bore size (mm) 20 25 32 40 50 63 80 | 100
= Basic 0.11 | 0.18 | 0.28 | 0.44 | 0.83 | 1.17 | 2.23 | 3.43
0.02 — — 2 Axial foot 0.22 | 0.31 | 044 | 0.66 | 1.31 | 1.89 | 3.19 | 5.18
—_ L—T | —] ()
g T g2 z Flange 0.19 | 0.28 | 0.42 | 0.64 | 1.17 | 1.67 | 2.94 | 4.78
3 / 050 | 540 @ Trunnion 012 [ 0.20 | 0.31 | 049 | 097 [ 131 | — | —
§ /; a Clevis 0.16 | 0.26 | 0.43 | 0.67 | 1.23 | 1.85 | 2.94 | 4.71
g = | ggg Pivot bracket 0.08 | 0.09 | 0.17 | 025 | 0.44 | 0.80 | 0.98 | 1.75
z 0.01 /7 - Single knuckle joint 0.05 | 0.09 | 0.09 | 0.10 | 0.22 | 0.22 | 0.39 | 0.57
= L — 2100 — -
= 4/ Double knuckle joint (with pins) 0.05 | 0.09 | 0.09 | 0.13 | 0.26 | 0.26 | 0.64 | 1.31 CJ1
::,_3) // Additional weight by each 50 stroke | 0.05 | 0.07 | 0.09 | 0.15 | 0.22 | 0.26 | 0.35 | 049 [
— Calculation example: CG1LQ20-100B * Basic weight.«--...o.r 0.22 (Foot, 820)
(Foot, 220, 100 stroke) » Additional weight------0.05/50 stroke CJ P
0 01 02 03 04 05 06 07 * Cylinder stroke----- -100 stroke ——
Operating pressure (MPa) 0.22+0.05 X 100/50=0.32kg CJ2
* Conversion into the cylinder operating pressure: . I
Mounting Bracket Part No. (mm) CM2
: T . . Mounting Bore size (mm) —
lecting the Low Friction Direction
Selecting the Lo ctio ectio bracket | 20 25 32 40 50 63 80 100 C85
@ To use the air cylinder as a balancer Axial foot™ | CG-L020 | CG-L025 | CG-L032 | CG-L040 | CG-L050 | CG-L063 | CG-L080 | CG-L100 —
pressurize it only from one of the por,ts as Flange CG-F020 | CG-F025 | CG-F032 | CG-F040 | CG-F050 | CG-F063 | CG-F080 | CG-F100 C76
shown in the app”cation examp|e’ and Trunnion CG-T020 | CG-T025 | CG-T032 | CG-T040 | CG-T050 | CG-T063 — —
keep the other port open to the Clevis™* CG-D020 | CG-D025 | CG-D032 | CG-D040 | CG-D050 | CG-D063 | CG-D080 | CG-D100 CG1
p p p
atmosphere. Pivot bracket | CG-020-24A| CG-025-24A | CG-032-24A | CG-040-24A | CG-050-24A | CG-063-24A | CG-080-24A | CG-100-24A ——
To operate by applymg pr_es:sure from_ * Order two foot brackets per cylinder. M B
the rod cover port: Low friction direction =+ Clevis pins, snap rings and mounting bolts are attached for the clevis style. —
B type <Application example (1> ##x Mounting bolts are attached for the foot style and the flange style.
yp pp p MB1
To operate by applying pressure from the
head cover port: Low friction direction F Auto Switch Mounting Bracket Part No. (mm) CP95
type <Application example @> _ E—
In either case, if the piston rod is moved Auto switch SIFE SIS ([ —
by an external force, it will effect low L 20 25 32 40 50 63 80 100 C95
icti i i i D-C7/C8 —
ggcélfgt;%?ifg?j?r::ttigrg the extending DoF7 | BVA2:020 | BA2.025 | BA2-032  BMAZ-040 | BMIA2.050  BA2063|  — — C92
(2 When it is necessary to operate it as an D-B5/B6 I —
ordinary dou_ble acting cylinder at an even 7D-G5IK5 BA-01 | BA-02 | BA-32 | BA-04 | BA-05 | BA-06 | BA-08 | BA-10 CA1
lower operating speeds, use a low speed - - - .
. N N Note 1) A set of following stainless steel mounting screws is attached. e —
Cyhnder (See Made to Order" on Page (A switch mounting band is not attached. Please order the band separately.)
SPECIALS-1). BBA3: D-B5/B6/GS5 types CS1
BBA4: D-C7/C8/H7 types —
"D-G5BAL" and "D-H7BAL"switches are set on the cylinder with the screws above when shipped.
When a switch only is shipped, "BBA3" or "BBA4" screws are attached.
Note 2) The material is stainless steel on auto switch equipped styles 620 and 225.
1-7-45

O
:



Series CG1JQ

Construction

/ v

E)E-D

@100

)

PRTR GE°99

9@9@@;@ ®

Component Parts

No. Description Material Note
H_H.LM_[M 3 &/AI @ | Rod cover Aluminum alloy White hard anodized
(@ | Head cover Aluminum alloy White hard anodized
(3 | Cylinder tube Aluminum alloy Hard anodized
080, 0100 @ | Piston Aluminum alloy Chromated
® | Piston rod* Carbon steel Hard chrome plated
(® | Bushing Oil impregnated sintered alloy | 40 or larger: Lead bronze cast
Wear ring Resin
(2 | Bumper Urethane
(3 | Snap ring Stainless steel
Rod end nut Rolled steel Nickel plated
P (5 | Piston gasket NBR
* The material is stainless steel on auto switch equipped styles 920 and 225.
Replacement Parts
No. Description Material Bore size (mm)/Part No.
020 025 232 240 250 ‘ 063 080 2100
@ | Piston seal NBR PDU-8Z PDU-10Z PDU-12LZ PDU-16Z PDU-20Z PDU-25Z PDU-30Z
Rod seal NBR |GY-20 X 11 X4 |GY-25X 16 X4 |GY-32 X21 X5|GY-40X28 X 5| GY-50 X 38 X 5 | GY-63 X 51 X 5| GY-80 X 66 X 6 | GY-100 X 86 X 6
(@ | Tube gasket NBR |CM-020-16-123|CM-025-16-124|CM-032-16-126|CM-040-16-127|CM-050-16-128|CM-063-16-129|CM-080-16-152| CM-100-16-153
(D | Back up O ring NBR | CM20-1552 | CM25-1553 |CG032-15-64685| CA40-1546 | CA50-1545 | CA63-1544 | CA80-1549 | CM100-1543
= A rubber magnet is equipped on the piston of the cylinder with auto switch.
Basic/CG1BQ
TA/TB cross section
wigth SA  2-RC(PT)P GB
MM .TH_}.across V4
\ flats B1
0 \ .
Dg —— s
d %t ;[ &
| | i
-AL-- A
_ A _|KF| I_J N\ 4-TC
L H S + Stroke .
L ZZ+Stroke -
TA/TB cross section (mm)
Bore size Tc* TDH9 TE | TF | TG
(mm)
20 M5 8 0% | 4 |os |55
25 M6x075 | 10*9% | 5 | 1 |65
32 M8 X 1.0 12+9% |55 1 |75
40 M10X1.25 | 14*308 | 6 |1.25| 85
50 Mi2x1.25 | 16*9% |75 ] 2 | 10
63 M14x15 | 18*0% |115| 3 [145
# Trunnion mounting taps with width across flats NA are not
attached for bore sizes 80 and 2100
(mm)
Bore Stroke range
(mm) (mm) A |AL| B1| C D | E F |GA|GB| H Hi | J K | KA MM NA | P S |[TA|TB | Z2Z
20 Up to 350 18 |15.5| 13 | 14 8 | 12 2 12 |12 | 35 5 | 26 M4 Depth 7 5 6 M8 24 [1/8 | 77 | 11 | 11 |114
25 Up to 400 22 |119.5| 17 |16.5] 10 | 14 2 12 | 12 | 40 6 |31 M5Depth75 |5.5| 8 [MI0X125 29 [1/8 | 77 | 11 | 11 |119
32 Up to 450 22 1195/ 13 | 20 | 12 | 18 2 12 | 12 | 40 6 |38 M5 Depth 8 55| 10 |M10X1.25/35.5(1/8 | 79 | 11 | 11 |[121
40 Up to 800 30|27 |19 | 26 | 16 | 25 2 13 | 13 | 50 8 | 47 M6 Depth 12 6 14 |M14X15| 44 |[1/8 | 87 | 12 | 12 |139
50 Upto1200 |35 | 32 |27 | 32 | 20 | 30 2 14 |14 | 58 | 11 | 58 M8 Depth 16 7 18 |[M18X 15| 55 | 1/4 [102| 13 | 13 |162
63 Upto 1200 |35 | 32 | 27 | 38 | 20 | 32 2 14 |14 | 58 | 11 | 72 M10 Depth 16 7 18 |M18X 15| 69 | 1/4 |[102 | 13 | 13 (162
80 Upto 1400 |40 | 37 | 32 | 50 | 25 | 40 3 [ 20 |20 |71 |13 | 89 M10 Depth 22 10 | 22 |M22X1.5| 80 |3/8 [122| — | — [196
100 Upto 1500 | 40 | 37 | 41 | 60 | 30 | 50 3 |20 |20 |71 | 16 |110 M12 Depth 22 10 | 26 |M26X1.5/100|1/2 (122 | — | — [196
1-7-46 @



With Mounting Bracket

Low Friction: Double Acting Single Rod Series CG1 D Q

Axial foot/CG1LQ Axial foot (mm)
Bore Z \ Y74
(mm)| B |LO|LD|LtH| LS [LT|LX|LZIM| W | X | Y e
20 |34|4|6]|20| 53 |3[32|44|3|10|15]|7 47 118
o : 25 |385/4|6|22| 53 |3[36/49(35/10|15|7 52 123.5
H @ e L 32 [45|466/25| 53 [3]44|58(35/ 10|16 |8 53 125.5
— T LR 40 |545/46.6/30| 60 |3|54|71|4|10|165[85] 63.5 144
N e W 50 [705/5|9[40| 67 [45|66|86|5|175|22 |11] 75.5 169.5 P
LY ook pin posiion) . LD’{: . 63 [825|5|11[45| 67 [45/82[106|5[175/22[13] 755 169.5 CJ1
77+ siioke oL 0 80 [101]6[11]55] 74 [45]100[125]5 20 |285[14] 95 202.5 =
100 [121|6[14]65| 74 |6[120({150{ 7|20 |30 [16] 95 206 CJP
Front flange/CG1FQ Flange mm) | M2
Bore Stroke range Rear flange —
) B|E|F |FX|FD|FT V74
FIL Front | Rear Without rod boot C85
20 |Upto350[Upto200| 40 | 12| 2 [ 28 |55 6 120 —
m 25 |Upto400|Upto300| 44 | 14| 2 |32 |55 7 126 C76
g B if 32  |Upto450{Upto300| 53 | 18 | 2 | 38 |66 7 128 —
og % i 40 |Upto800[Upto500| 61 | 25 | 2 | 46 |66 | 8 147
B 50  |Upto1200{Upto600| 76 | 30 | 2 |58 | 9 | 9 171
kil 63  |Upto1200{Upto600| 92 | 32 | 2 |70 [ 11 | 9 171 MB
80  |Upto1400{Upto750|104| 40 | 3 |82 | 11 | 11 207
— 100 |Upto1500|Upto750(128| 50 | 3 [100| 14 | 14 210 MB1
(1B Note) End boss is machined on the flange for oE.
Rear flange/CG1GQ L
4-0FD C95
® e C92
NN L
(0346} . CA1
_C;} S —_—
ZZ + stroke
Front trunnion/CG1UQ
Trunnion (mm)
"_;"_'_'Tl'g—j_srackm maunting range Bore Stroke range
& ; B | TDe8 |TE|TF |[TH|TR|TS|TT | TV
g3 (mm) | Front | Rear
B2 | 20 |Upto200{Upto200] 38 | 83325 10 |55 | 25 | 39 | 28 | 3.2 [35.8
BT ‘“EH 25 |Upto300|Upto300[45.5| 103325 10 | 5.5 | 30 | 43 | 33 | 3.2 [39.8
; I—'—Uﬁ 32 |Upto300{Upto300] 54 | 1223332 10 | 6.6 | 35 |54.5| 40 | 4.5 [49.4
ul 40 |Upto500Upto500{63.5| 14 3332| 10 | 6.6 | 40 |65.5| 49 | 4.5 [58.4
! 50 |Upto600jUpto600] 79 | 16333 20 | 9 |50 | 80 | 60 | 6 [72.4
63 |Upto600jUpto600| 96 | 18 3333 20 | 11 | 60 | 98 | 74 | 8 [90.4
27 + stroke B Front Rear
e (rﬁrf) TW| TX | TY | T2 z z 7z
Without rod boot | Without rod boot | Without rod boot
. 20 |42 | 16| 28 |476 46 101 122
Rear trunnion/CG1TQ = |4 | %0 | a6 || 56 > 106 127
Bracket 32 |48 | 22|28 |677 51 108 132
IR mounting 40 |56 | 30|30 |787 62 125 153
15 range
" ! 50 |64 | 36| 36|96 71 147 179
ag 63 | 74 | 46 | 46 | 1192 71 147 184
Ei_f A = Consists of pins, flat washer and hexagon socket head cap bolt.
- B ] @]‘ Note) Refer to p.1.7-11 for pivot bracket.
ek
H |
i : N Ed Al e i e
’ TY
N —|; T1W_.l
™ | 4-aTF ____Z+soiroke
L 1Z - 1 1 = ZZ + slroke
1-7-47



Series CG1JQ

With Mounting Bracket

Clevis/CG1DQ

8 cz__
\ [ 9% T 920 to 063

l'#‘JEﬂ aCD

| External H10

l"f Internal d9

Z + stroke

£2Z + siroke

(The above shows the case port location is changed by 90 degrees.)

220, 063

0CD External-io
s LR

. / Intemal 5

Z + stroke

aF, ]
cxifi
TX |

T

=

_ZZ + stroke

x Clevis pins and snap rings are attached.

1-7-48

Clevis (mm)
Bore |Stroke range!

(mm) | (mm) | B |CD|CX|CZ| L |RR TE | TF | TH
20 |Upto200| 38 | 8 | — |29 [14 |11 | — [ 10 |55] 25
25 |Upto300[455| 10 | — | 33 | 16 | 13 | — | 10 | 55 | 30
32 |Upto3o0| 54 |12 | — |40 |20 15| — [ 10 |66 35
40 |Upto500[635| 14 | — |49 [22 [ 18 | — [ 10 [ 66 | 40
50 |Upto600| 79 | 16 | — | 60 | 25 | 20 | — | 20 | 9 | 50
63 |Upto6oo| 96 | 18 | — | 74 [ 30 [ 22 [ — [ 20 [ 11 | 60
80 |Upto750|99.5| 18 | 28 | 56 | 35 | 18 | 26 | — | 11 | 55
100 |Upto750| 120 | 22 | 32 | 64 | 43 | 22 | 32 | — [13.5] 65
Bore | w0 |\ vy [Tw | x| TY | Tz | Zz | zz |PinpartNo.
(mm)

20 32 | 358 42 | 16 | 28 | 43.4 | 126 | 147 | CD-Go2

25 32 [398| 42 | 20 | 28 | 48 | 133 | 154 | cD-G2s

32 45 | 494 | 48 | 22| 28 |59.4| 139 | 163 | CD-Go3

40 45 | 584 | 56 | 30 | 30 | 71.4| 159 | 187 | CD-Go4

50 6 |724| 64 | 36| 36 | 86 | 185 | 217 | CD-GO5

63 8 [904| 74 | 46 | 46 |105.4| 190 | 227 | CD-Goe

80 11 | 110 | 72 | 85 | 45 | 64 | 228 |286.5| IY-Go8

100 | 12 [ 130 | 93 | 100 | 60 | 72 | 236 [3125| IY-G10

Note) =Refer to p.1.7-11 for pivot bracket.

O
2



	Index
	Volumen 1
	Solenoid Valve
	4/5 Port Solenoid Valve
	3 Port Solenoid Valve

	All Air System
	4/5 Port Air Operated Valve
	3 Port Air Operated Valve
	All Air System Equipment

	Process Valve
	Power Valve/Silencer

	Volumen 2
	Standard Air Cylinder
	Standard Air Cylinder
	Standard Air Cylinder (Compact style)

	Combination Cylinder
	Cylinder with Lock
	Cylinder with Table
	Guide Cylinder
	Non-rotating Cylinder
	Rodless Cylinder

	Specialty Cylinder
	Related Products
	Technical Data

	Volumen 3
	Rotary Actuator
	Air Gripper
	Vacuum Equipment
	Flow Control Equipment
	Other Actuators

	Volumen 4
	Air Line Equipment
	Fittings and Tubing
	Detection Switch
	Air Preparation Equipment





